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1. &��� �%�����/ ��%&�����/ 
 
&5?O<< 4<EF<??<=O «�56>G?LFGD=O5 >><<G=<>4F<< =4 <=>EFD4==>< O7O>5» O6?ONFEO 

?>6OL5=<5 <EE>4=>7> GD>6=O 6?445=<O 4=7?<=E><< O7O>><, 4>EF<7=GF>7> =4 ?D54O4GM5= EFG?5=< 
>5D47>64=<O, >E6>5=<5 >E>55==>EF5= <E?>?L7>64=<O 4=7?<=E>>7> O7O>4 6 ?D>F5EE5 E>6<5EF=>= 
D45>FO, 6545=<O ?5D57>6>D>6, ?D575=F4F<< E6><E ?D>4G>F>6 < GE?G7 >?<5=F4< < >>??574< <7 
4DG7<E EFD4=, =>E<F5?O<< >4> D47?<G=OE =4F<>=4?L=OE, F4> < D47?<G=OE >>D?>D4F<6=OE >G?LFGD. 
 
 

2. ��%&� ��%&�����/ � %&$'�&'$� ��� 
 

�<EF<??<=4 «�56>G?LFGD=O5 >><<G=<>4F<< =4 <=>EFD4==>< O7O>5» >F=>E<FEO > 
>5O74F5?L=>= G4EF< 5?>>4 1 «�<EF<??<=O (<>4G?<)» �.1.�.2 ����. 

 
�D54L5EF6GNM<5 4<EF<??<=O (>GDEO, 

<>4G?<, ?D4>F<><) 
�>E?54GNM<5 4<EF<??<=O (>GDEO, <>4G?<, 

?D4>F<><) 
�=>EFD4==O= O7O> 3 

 
 

3.�����$'��/� $��'�,&�&/ ��''���/ �� ��%&������ 
 

�>4 < =4<<5=>64=<5 
>><?5F5=F<< 

�>4 < =4<<5=>64=<5 
<=4<>4F>D4 (<=4<>4F>D>6) 
4>EF<65=<O >><?5F5=F<< 

$57G?LF4FO >5GG5=<O 

'�-4 %?>E>55= >EGM5EF6?OFL 
45?>6GN >><<G=<>4F<N 6 
GEF=>= < ?<EL<5==>= D>D<4E 
=4 7>EG44DEF65==>< O7O>5 
$>EE<=E>>= $545D4F<< < 
<=>EFD4==>< (OE) O7O>5 (4E) 

'�-4.2 �54UF >5<5= 45?>6>= 
<=D>D<4F<5= 6 GEF=>= < 
?<EL<5==>= D>D<4E =5 
<5=55 G5< =4 >4=>< 
<=>EFD4==>< O7O>5. 

�=45F =>D<O < ?D46<?4 
<=>EFD4==>7> O7O>4. 
'<55F >><<G=<F<D>64FL 6 GEF=>= < 
?<EL<5==>= D>D<4E =4 
<=>EFD4==>< O7O>5. 
�?4455F =46O>4<< >5<5=4 45?>6>= 
<=D>D<4F<5= 6 GEF=>= < 
?<EL<5==>= D>D<4E =4 
<=>EFD4==>< O7O>5. 

 
 

4. ��.�� ��%&�����/ � ���/ ''����� $���&/ 
 
�5M<= >5N5< 4<EF<??<=O E>EF46?O5F 13 74G5F=OE 54<=<F, 468 4>445<<G5E><E G4E>6.   
 

�G=4O D>D<4 >5GG5=<O 
 

�<4 GG55=>= D45>FO �E57> 
G4E>6 

&D<<5EFDO 
3 4 5 6 

�>=F4>F=4O D45>F4 (6E57>) 126,5 40 30 30 26,5 
6 F>< G<E?5:      
1) 74=OF<O E5<<=4DE>>7> F<?4 (��) 124 40 30 30 24 
<7 =<E      
3 ?D4>F<G5E><5 74=OF<O (�$) 124 40 30 30 24 
2) 7DG??>6O5 >>=EG?LF4F<< 2    2 
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3) ?D><56GF>G=4O 4FF5EF4F<O 0,5    0,5 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 341,5 68 78 78 117,5 
6 F>< G<E?5:      
3 E4<>?>47>F>6>4  315 68 78 78 91 
3 ?>47>F>6>4 > 4FF5EF4F<< 26,5    26,5 
�5M<= >5N5<, G4E 468 108 108 108 144 
$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  74G5F 74G5F 74G5F M>74<5= 

 
�4>G=4O D>D<4 >5GG5=<O 

 
�<4 GG55=>= D45>FO �E57> 

G4E>6 
&D<<5EFDO 

3 4 5 6 
�>=F4>F=4O D45>F4 (6E57>) 29,4 4,3 6,3 8,3 10,5 
6 F>< G<E?5:      
1) 74=OF<O E5<<=4DE>>7> F<?4 (��) 28 4 6 8 10 
<7 =<E      
3 ?D4>F<G5E><5 74=OF<O (�$) 28 4 6 8 10 
2) 7DG??>6O5 >>=EG?LF4F<<      
3) ?D><56GF>G=4O 4FF5EF4F<O 1,4 0,3 0,3 0,3 0,5 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 438,6 103,7 101,7 99,7 133,5 
6 F>< G<E?5:      
3 E4<>?>47>F>6>4  419 100 98 96 125 
3 ?>47>F>6>4 > 4FF5EF4F<< 19,6 3,7 3,7 3,7 8,5 
�5M<= >5N5<, G4E 468 108 108 108 144 
$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  74G5F 74G5F 74G5F M>74<5= 

 
 

5. %���$����� � %&$'�&'$� ��%&�����/ 
 

5.1. %>45D64=<5 4<EF<??<=O 
 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) %>45D64=<5 D4745?4 (F5<O) 

1 Developing intercultural skills 
($476<F<5 <56>G?LFGD=OE 
=46O>>6) 

$4EE<>FD5=<5 ?>=OF<O >G?LFGDO < E?>E>5>6 
>?<E4=<O D47?<G=OE >G?LFGD 6 F5?OE D47D45>F>< 
MDD5>F<6=OE EFD4F57<= MDD5>F<6=>= 
<56>G?LFGD=>= >><<G=<>4F<<. �=4>><EF6> E 
?>=OF<5< «flexible thinking» («7<5>>5 
<OL?5=<5») 6 ?D>F5EE5 6545=<O ?5D57>6>D>6 E 
>>??574<< <7 4DG7<E EFD4=, E> E?>E>54<< 
?D5>4>?5=<O «misunderstanding» 
(«=5?>=<<4=<O»). 

2. Managing first meetings in context 
of different corporate cultures 
(�D74=<74F<O ?5D6OE D45>G<E 
6EFD5G 6 >>=F5>EF5 D47?<G=OE 
>>D?>D4F<6=OE >G?LFGD)  

�7GG5=<5 O7O>>6OE >>=EFDG>F<=, <E?>?L7G5<OE 
4?O =4G4?4 45?>6>= 55E54O, ?D<65FEF6<O 
=>E<F5?5= D47?<G=OE >G?LFGD: «open questions» 
(«>F>DOFO5 6>?D>EO») < «closed questions» 
(«74>DOFO5 6>?D>EO»). �OD45>F>4 ?D4>F<G5E><E 
=46O>>6 6545=<O «small talk» («E65FE>>= (?57>>=) 
55E54O») E =>6O<< >>??574<< E GG5F>< <E 
«cultural backgrounds» («>G?LFGD=OE FD44<F<=, 
?564M<E 6 >E=>65 6>E?<F4=<O»): <5F4D>DO «the 
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coconut culture» < «the peach culture» (74>DOFO= 
< >F>DOFO= >G?LFGD=O5 F<?O).  

3. Effective intercultural 
communication (-DD5>F<6=4O 
<56>G?LFGD=4O >><<G=<>4F<O) 

�=4?<7 D5G56OE F4>F<> D5L5=<O 
>><<G=<>4F<6=OE ?D>5?5<, E6O74==OE E 
674<<>45=EF6<5< ?D54EF46<F5?5= D47?<G=OE 
>G?LFGD. �E6>5=<5 E?>E>5>6 «communicating 
good and bad news sensitively» («45?<>4F=>7> 
E>>5M5=<O > E>D>L<E < ??>E<E =>6>EFOE»). 
$4EE<>FD5=<5 D47?<G=OE D5G56OE EF<?5= 
<56>G?LFGD=>= >><<G=<>4F<<. 

4. Managing international meetings 
(�D74=<74F<O <564G=4D>4=OE 
6EFD5G) 

�=4>><EF6> E> E?>E>54<< >D74=<74F<< 4<4?>74 6 
>>??5>F<64E, E>EF>OM<E <7 ?D54EF46<F5?5= 
D47?<G=OE >G?LFGD, E ?D>F5EE>< 6OD45>F>< 
>5M<E D5L5=<=. �E?>?L7>64=<5 D5G56OE 
=46O>>6 4?O D5L5=<O >><<G=<>4F<6=OE 
FDG4=>EF5=, 6>7=<>4NM<E ?D< >5M5=<< ?N45= E 
D47?<G=O< F5<?5D4<5=F><, >5GE?>6?5==O< 
«cultural background». 

5. Becoming a better listener (�4> 
EF4FL E>D>L<< E?GL4F5?5<) 

�6545=<5 6 4>F<6=O= E?>64D=O= 74?4E 
EF4=44DF=OE DD475>?>7<7<D>64==OE 
6OD465=<=, E?G64M<E 4?O E>744=<O >5D474 
6=<<4F5?L=>7> E?GL4F5?O, 6OOE=5=<O 45F4?5= 
>5EG6445<OE 6>?D>E>6 6 <G?LF<>G?LFGD=>= 
ED545: 7=4G5=<O >>=>D5F=OE E?>6 <?< 45=EF6<= 
?4DF=5D>6, <E F5==>EF5=, <>F<64F<<, 
6>7<>6=OE ?>E?54EF6<= F5E <?< <=OE 45=EF6<=, 
7=4G<<>EF< 65D54?L=OE < =565D54?L=OE ED54EF6 
6 GEF4=>6?5=<< 45?>6OE >>=F4>F>6. 

6. Presenting across cultures 
(�D575=F4F<O ?D>4G>F4 6 
D47?<G=OE >G?LFGD=OE ED544E) 

�57>D E?>E>5>6 ?D575=F4F<< ?D>4G>F4 ?5D54 
E?GL4F5?O<<- <=>EFD4=F4<< E GG5F>< <=F5D5E>6 
< ?>F5=F<4?L=OE >6<44=<= 4G4<F>D<<: 
<5F4F5>EF>6O5 <4D>5DO, <E?>?L7G5<O5 4?O 
EFDG>FGD<D>64=<O, G?GGL5=<O ?>7<G5E>>= 
E6O7=>EF< D5G<, 4<=4<<>< «Q & A phase of 
presentation» (6>?D>E=>->F65F=>= D47O 
?D575=F4F<<, 55 >5EG645=<O). 

7. Writing emails (�4?<E4=<5 
M?5>FD>==OE ?<E5<) 

$4EE<>FD5=<5 EFDG>FGDO F<?>6>7>  
M?5>FD>==>7> ?<EL<4, E>45D64M57> >G?LFGD=> 
«=5=FD4?L=O5» D5G56O5 M?5<5=FO, 4>F<6<74F<O 
?5>E<G5E><E < DD475>?>7<G5E><E 54<=<F 3 
D>D<G? 656?<6>EF<, >>DD5>F=>EF<, F>G=>EF<, 
45?<>4F=>EF<. �OD45>F>4 ?>7<F<6=>7> EF<?O 
=4?<E4=<O 45?>6OE 6>?D>E>6 < >F65F>6 6 
M?5>FD>==OE ?<EL<4E. 

8. Negotiating across cultures 
(�5D57>6>DO E ?D54EF46<F5?O<< 
D47?<G=OE >G?LFGD) 

�D4>F<G5E>4O D45>F4 ?> E>65DL5=EF6>64=<N 
D5G56OE =46O>>6, FD55GNM<EEO 4?O ?D>6545=<O 
GE?5L=OE <564G=4D>4=OE ?5D57>6>D>6 =4 
4=7?<=E>>< O7O>5, E6>5>4=>7> <E?>?L7>64=<O 
D5G56OE ED54EF6, ?>76>?ONM<E 6OOE=<FL 
?<G=O5 F5?< ?4DF=5D>6, ?>=OFL E>55E54=<>4 6 
?D>F5EE5 6545=<O ?5D57>6>D>6, ?>EFD><FL 
4<E>GEE<N 6 «7<5>><» EF<?5, 6OOE=<FL F>G>< 



6 

E>?D<>>E=>65=<O <564G EF>D>=4<< ?5D57>6>D>6, 
G646<F5?L=> >F=5EF<EL > ?>7<F<< ?4DF=5D>6, 
>?D545?<FL G5F>GN ?>65EF>G < 4>?7>ED>G=GN 
?5DE?5>F<6G ?5D57>6>D>6. 

9. Managing conflict 
('D57G?<D>64=<5 D45>G<E 
>>=D?<>F>6) 

�=4>><EF6> E <>45?LN «A3I3R» («anticipation 
possible conflict 3 identify potential sources of 
conflict 3 recommend a way to avoid conflict»), 
?>76>?ONM5= ?D54>F6D4F<FL 6>7<>6=O= 
D45>G<= >>=D?<>F, 6 >E=>65 >>F>D>7> D47?<G=>5 
?>=<<4=<5 >>D?>D4F<6=OE F5==>EF5=. 
�D<<5=5=<5 MF>= <>45?< 4?O GD57G?<D>64=<O 
<56=4F<>=4?L=OE >>=D?<>F>6. 

10. Working in an international team 
($45>F4 <564G=4D>4=>= >><4=45) 

�D4>F<G5E>>5 >E6>5=<5 =46O>>6 F<<5<?4<=74 6 
?>?<>G?LFGD=>< D45>G5< >>??5>F<65, E?>E>5>6 
G?>FD55?5=<O G=<65DE4?L=OE DD47 < 6OD465=<= 
4?O E>744=<O ?>7<F<6=>= >5D4F=>= E6O7< 
(«positive feedback»). 

11. Managing diversity and creativity 
('?D46?5=<5 >>??5>F<6>< 6 
GE?>6<OE >G?LFGD=>7> 
D47=>>5D47<5, ?>6OL5=<5 
>D54F<6=>EF<) 

�=4?<7 6>7<>6=>EF5= <E?>?L7>64=<O 
65D54?L=OE «diversity techniques» («F5E=<> 
G?D46?5=<O >>??5>F<6>< E D47?<G=O<< 
677?O44<< =4 <<D»), D476<F<5 =46O>>6 
«brainstorming» («<>77>6>7> LFGD<4») 6 
GE?>6<OE D45>FO E ?D54EF46<F5?O<< D47?<G=OE 
>G?LFGD. 

12. Profiling your intercultural 
competence (�?D545?5=<5 64L5= 
<56>G?LFGD=>= >><?5F5=F<<) 

$45>F4 E F5EF>6O<< <4F5D<4?4<<, 
?>76>?ONM<<< >F5=<FL ?<G=GN <56>G?LFGD=GN 
>><?5F5=F<N, D47D45>F>4 ??4=4 ?5DE>=4?L=>7> 
D476<F<O =4 >E=>65 D57G?LF4F>6 F5EF<D>64=<O.  

 
 

5.2. %FDG>FGD4 4<EF<??<=O 
 

�G=4O D>D<O >5GG5=<O 
 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 
�$ %$ �E57> 

1 Developing intercultural skills ($476<F<5 
<56>G?LFGD=OE =46O>>6) 

14 29 45 

2 Managing first meetings in context of different 
corporate cultures (�D74=<74F<O ?5D6OE D45>G<E 
6EFD5G 6 >>=F5>EF5 D47?<G=OE >>D?>D4F<6=OE 
>G?LFGD)  

10 26 36 

3 Effective intercultural communication (-DD5>F<6=4O 
<56>G?LFGD=4O >><<G=<>4F<O) 

10 26 36 

4 Managing international meetings (�D74=<74F<O 
<564G=4D>4=OE 6EFD5G) 

10 26 36 

5 Becoming a better listener (�4> EF4FL E>D>L<< 
E?GL4F5?5<) 

10 26 36 

6 Presenting across cultures (�D575=F4F<O ?D>4G>F4 6 
D47?<G=OE >G?LFGD=OE ED544E) 

10 26 36 

7 Writing emails (�4?<E4=<5 M?5>FD>==OE ?<E5<) 10 26 36 
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8 Negotiating across cultures (�5D57>6>DO E 
?D54EF46<F5?O<< D47?<G=OE >G?LFGD) 

10 26 36 

9 Managing conflict ('D57G?<D>64=<5 D45>G<E 
>>=D?<>F>6) 

10 26 36 

10 Working in an international team ($45>F4 
<564G=4D>4=>= >><4=45) 

10 26 36 

11 Managing diversity and creativity ('?D46?5=<5 
>>??5>F<6>< 6 GE?>6<OE >G?LFGD=>7> D47=>>5D47<5, 
?>6OL5=<5 >D54F<6=>EF<) 

10 26 36 

12 Profiling your intercultural competence (�?D545?5=<5 
64L5= <56>G?LFGD=>= >><?5F5=F<<) 

10 26 36 

 �5M<= >5N5< 124 315 439 

 
�4>G=4O D>D<4 >5GG5=<O 

 
7 D4745?4 

(F5<O) 
�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 

�$ %$ �E57> 
1 Developing intercultural skills ($476<F<5 

<56>G?LFGD=OE =46O>>6) 
6 45 51 

2 Managing first meetings in context of different 
corporate cultures (�D74=<74F<O ?5D6OE D45>G<E 
6EFD5G 6 >>=F5>EF5 D47?<G=OE >>D?>D4F<6=OE 
>G?LFGD)  

2 34 36 

3 Effective intercultural communication (-DD5>F<6=4O 
<56>G?LFGD=4O >><<G=<>4F<O) 

2 34 36 

4 Managing international meetings (�D74=<74F<O 
<564G=4D>4=OE 6EFD5G) 

2 34 36 

5 Becoming a better listener (�4> EF4FL E>D>L<< 
E?GL4F5?5<) 

2 34 36 

6 Presenting across cultures (�D575=F4F<O ?D>4G>F4 6 
D47?<G=OE >G?LFGD=OE ED544E) 

2 34 36 

7 Writing emails (�4?<E4=<5 M?5>FD>==OE ?<E5<) 2 34 36 

8 Negotiating across cultures (�5D57>6>DO E 
?D54EF46<F5?O<< D47?<G=OE >G?LFGD) 

2 34 36 

9 Managing conflict ('D57G?<D>64=<5 D45>G<E 
>>=D?<>F>6) 

2 34 36 

10 Working in an international team ($45>F4 
<564G=4D>4=>= >><4=45) 

2 34 36 

11 Managing diversity and creativity ('?D46?5=<5 
>>??5>F<6>< 6 GE?>6<OE >G?LFGD=>7> D47=>>5D47<5, 
?>6OL5=<5 >D54F<6=>EF<) 

2 34 36 

12 Profiling your intercultural competence (�?D545?5=<5 
64L5= <56>G?LFGD=>= >><?5F5=F<<) 

2 34 36 

 �5M<= >5N5< 28 419 447 
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5.3. �4=OF<O E5<<=4DE>>7> F<?4 
 

�G=4O D>D<4 >5GG5=<O 
 

7 ?/? 7 D4745?4 
(F5<O) 

�<4 
74=OF<O 

�4<<5=>64=<5 �>?<G5EF6> 
G4E>6 

 
1 1 �$ Developing intercultural skills ($476<F<5 

<56>G?LFGD=OE =46O>>6) 
14 

2 2 �$ Managing first meetings in context of different 
corporate cultures (�D74=<74F<O ?5D6OE 
D45>G<E 6EFD5G 6 >>=F5>EF5 D47?<G=OE 
>>D?>D4F<6=OE >G?LFGD)  

10 

3 3 �$ Effective intercultural communication 
(-DD5>F<6=4O <56>G?LFGD=4O >><<G=<>4F<O) 

10 

4 4 �$ Managing international meetings (�D74=<74F<O 
<564G=4D>4=OE 6EFD5G) 

10 

5 5 �$ Becoming a better listener (�4> EF4FL E>D>L<< 
E?GL4F5?5<) 

10 

6 6 �$ Presenting across cultures (�D575=F4F<O 
?D>4G>F4 6 D47?<G=OE >G?LFGD=OE ED544E) 

10 

7 7 �$ Writing emails (�4?<E4=<5 M?5>FD>==OE ?<E5<) 10 

8 8 �$ Negotiating across cultures (�5D57>6>DO E 
?D54EF46<F5?O<< D47?<G=OE >G?LFGD) 

10 

9 9 �$ Managing conflict ('D57G?<D>64=<5 D45>G<E 
>>=D?<>F>6) 

10 

10 10 �$ Working in an international team ($45>F4 
<564G=4D>4=>= >><4=45) 

10 

11 11 �$ Managing diversity and creativity ('?D46?5=<5 
>>??5>F<6>< 6 GE?>6<OE >G?LFGD=>7> 
D47=>>5D47<5, ?>6OL5=<5 >D54F<6=>EF<) 

10 

12 12 �$ Profiling your intercultural competence 
(�?D545?5=<5 64L5= <56>G?LFGD=>= 
>><?5F5=F<<) 

10 

 
�4>G=4O D>D<4 >5GG5=<O 

 
7 ?/? 7 D4745?4 

(F5<O) 
�<4 

74=OF<O 
�4<<5=>64=<5 �>?<G5EF6> 

G4E>6 
 

1 1 �$ Developing intercultural skills ($476<F<5 
<56>G?LFGD=OE =46O>>6) 

6 

2 2 �$ Managing first meetings in context of different 
corporate cultures (�D74=<74F<O ?5D6OE 
D45>G<E 6EFD5G 6 >>=F5>EF5 D47?<G=OE 
>>D?>D4F<6=OE >G?LFGD)  

2 

3 3 �$ Effective intercultural communication 
(-DD5>F<6=4O <56>G?LFGD=4O >><<G=<>4F<O) 

2 

4 4 �$ Managing international meetings (�D74=<74F<O 
<564G=4D>4=OE 6EFD5G) 

2 
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5 5 �$ Becoming a better listener (�4> EF4FL E>D>L<< 
E?GL4F5?5<) 

2 

6 6 �$ Presenting across cultures (�D575=F4F<O 
?D>4G>F4 6 D47?<G=OE >G?LFGD=OE ED544E) 

2 

7 7 �$ Writing emails (�4?<E4=<5 M?5>FD>==OE ?<E5<) 2 

8 8 �$ Negotiating across cultures (�5D57>6>DO E 
?D54EF46<F5?O<< D47?<G=OE >G?LFGD) 

2 

9 9 �$ Managing conflict ('D57G?<D>64=<5 D45>G<E 
>>=D?<>F>6) 

2 

10 10 �$ Working in an international team ($45>F4 
<564G=4D>4=>= >><4=45) 

2 

11 11 �$ Managing diversity and creativity ('?D46?5=<5 
>>??5>F<6>< 6 GE?>6<OE >G?LFGD=>7> 
D47=>>5D47<5, ?>6OL5=<5 >D54F<6=>EF<) 

2 

12 12 �$ Profiling your intercultural competence 
(�?D545?5=<5 64L5= <56>G?LFGD=>= 
>><?5F5=F<<) 

2 

 
 

5.4. �GDE>6>= ?D>5>F (>GDE>64O D45>F4, D4EG5F=>-7D4D<G5E>4O D45>F4, D5D5D4F, >>=FD>?L=4O 
D45>F4) 3 =5 ?D54GE<>FD5=> 

 
 

5.5. %4<>EF>OF5?L=4O D45>F4 
 

7 D4745?4 
(F5<O) 

�<4O E4<>EF>OF5?L=>= D45>FO �$� �$� 
 

1-12 
�>47>F>6>4 > GEF=><G >?D>EG ?> F5<5, 
F5EF<D>64=<N, 6O?>?=5=<N ?D4>F<G5E><E 7444=<=. 

315 419 

1-12 �>47>F>6>4 > 4FF5EF4F<<. 3 26,5  

 
 

6. ��$�����&��,�/� &�%������� 
 

�D< >5GG5=<< <=>EFD4==><G O7O>G <E?>?L7GNFEO E?54GNM<5 >5D47>64F5?L=O5 F5E=>?>7<<. 
&5E=>?>7<O >><<G=<>4F<6=>7> >5GG5=<O 3 =4?D46?5=4 =4 D>D<<D>64=<5 >><<G=<>4F<6=>= 

>><?5F5=F=>EF< EFG45=F>6, >>F>D4O O6?O5FEO 547>6>=, =5>5E>4<<>= 4?O 444?F4F<< > E>6D5<5==O< 
GE?>6<O< <56>G?LFGD=>= >><<G=<>4F<<.  

&5E=>?>7<O D47=>GD>6=56>7> (4<DD5D5=F<D>64==>7>) >5GG5=<O ?D54?>?4745F >EGM5EF6?5=<5 
?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F>6 E GGUF>< <E <=4<6<4G4?L=OE E?>E>5=>EF5=, 
6>7<>6=>EF5= < <=F5D5E>6, ?>>MDOO <E D54?<7>6O64FL E6>= F6>DG5E><= ?>F5=F<4?. %>744=<5 < 
<E?>?L7>64=<5 4<47=>EF<G5E><E F5EF>6 O6?O5FEO =5>FN5<?5<>= G4EFLN 44==>= F5E=>?>7<<.  

&5E=>?>7<O <=4<6<4G4?<74F<< >5GG5=<O ?><>745F D54?<7>6O64FL ?<G=>EF=>-
>D<5=F<D>64==O= ?>4E>4, GG<FO64O <=4<6<4G4?L=O5 >E>55==>EF< < ?>FD55=>EF< GG4M<EEO.  

&5E=>?>7<O F5EF<D>64=<O <E?>?L7G5FEO 4?O >>=FD>?O GD>6=O GE6>5=<O ?5>E<G5E><E, 
7D4<<4F<G5E><E 7=4=<= 6 D4<>4E <>4G?O =4 >?D545?U==>< MF4?5 >5GG5=<O. �4==4O F5E=>?>7<O 
?>76>?O5F ?D5?>4464F5?N 6OO6<FL < E<EF5<4F<7<D>64FL 4E?5>FO, FD55GNM<5 4>?>?=<F5?L=>= 
?D>D45>F><.  

&5E=>?>7<O >5GG5=<O 6 E>FDG4=<G5EF65 D54?<7G5F <45N 674<<=>7> >5GG5=<O, >EGM5EF6?OO 
>4> <=4<6<4G4?L=GN, F4> < >>??5>F<6=GN >F65FEF65==>EFL 74 D5L5=<5 GG55=OE 7444G.  
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�7D>64O F5E=>?>7<O ?>76>?O5F D476<64FL =46O>< D4EE<>FD5=<O DO44 6>7<>6=OE E?>E>5>6 
D5L5=<O ?D>5?5<, 4>F<6<7<DGO <OL?5=<5 EFG45=F>6 < D4E>DO64O ?<G=>EF=O= ?>F5=F<4? >464>7> 
>5GG4NM57>EO.  

&5E=>?>7<O D476<F<O >D<F<G5E>>7> <OL?5=<O E?>E>5EF6G5F D>D<<D>64=<N D47=>EF>D>==5= 
?<G=>EF<, E?>E>5=>= >D<F<G5E>< >F=>E<FLEO > <=D>D<4F<<, G<5=<N >F5<D4FL <=D>D<4F<N 4?O 
D5L5=<O ?>EF46?5==>= 7444G<.  

�=D>D<4F<>==>->><<G=<>4F<>==O5 F5E=>?>7<< (��&) D4EL<DONF D4<>< >5D47>64F5?L=>7> 
?D>F5EE4, ?>6OL4O 57> ?D4>F<G5E>GN =4?D46?5==>EFL, E?>E>5EF6GNF <=F5=E<D<>4F<< 
E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO < ?>6OL5=<N ?>7=464F5?L=>= 4>F<6=>EF<. � D4<>4E ��& 
6O45?ONFEO 2 6<44 F5E=>?>7<=:  

- F5E=>?>7<O <E?>?L7>64=<O >><?LNF5D=OE ?D>7D4<<, >>F>D4O ?>76>?O5F MDD5>F<6=> 
4>?>?=<FL ?D>F5EE >5GG5=<O O7O>G =4 6E5E GD>6=OE. �G?LF<<54<==O5 ?D>7D4<<O ?D54=47=4G5=O 
>4> 4?O 4G4<F>D=>=, F4> < E4<>EF>OF5?L=>= D45>FO EFG45=F>6 < =4?D46?5=O =4 D476<F<5 
7D4<<4F<G5E><E < ?5>E<G5E><E =46O>>6.  

- �=F5D=5F-F5E=>?>7<<, ?D54>EF46?ONM<5 L<D>><5 6>7<>6=>EF< 4?O ?><E>4 <=D>D<4F<<, 
6545=<O =4GG=OE <EE?54>64=<=.  

 
�=F5D4>F<6=O5 < 4>F<6=O5 >5D47>64F5?L=O5 F5E=>?>7<<,  

<E?>?L7G5<O5 6 4G4<F>D=OE 74=OF<OE 
 

7 
D4745?4 
(F5<O) 

�<4 
74=OF<O  

 

�E?>?L7G5<O5 <=F5D4>F<6=O5 < 4>F<6=O5 
>5D47>64F5?L=O5 F5E=>?>7<< 

�>?<G5EF6> G4E>6 

�$� �$� 

9, 10 �P &6>DG5E><5 7444=<O: E>EF46?5=<5 D4EE>474 > 
D5L5=<< D45>G<E ?D>5?5< ?> >?>D=O< 
DD474<, >76GG<64=<5 ?> D>?O< DD47<5=F4 
4=7?<=E>>7> D<?L<4, 6 >>F>D>< 
45<>=EFD<DG5FEO >>=D?<>F=4O E<FG4F<O, 
E6O74==4O E >G?LFGD=O<< D47?<G<O<< G?5=>6 
>>??5>F<64 (<7D4 6 ><=>4G5?O6). 

6 4 

1,5,11 �P �=F5D4>F<6=>5 74=OF<5 (D45>F4 E 
4G4<><4F5D<4?4<<: E6>5>4=4O <=F5D?D5F4F<O 
<4F5D<4?>6 4G4<D>64=<O; E>>D4F<G5E><= 
4<4?>7 =4 >E=>65 EFD4=>654G5E><E 
<4F5D<4?>6: =5>5E>4<<>, =4?D<<5D, 
>5>E=>64FL EGM5EF6>64=<5 F5E <?< <=OE 
>G?LFGD=OE EF5D5>F<?>6; «>5GG4NM<=EO 6 
D>?< ?D5?>4464F5?O»; <E?>?L7>64=<5 
<=F5D4>F<6=OE >5GG4NM<E D<?L<>6, 6 
>>F>DOE =5>5E>4<<> ?><>GL 75D>O< 
74>>=G<FL DD47O 6 4<4?>75 < F.4.; ?D>E<>FD < 
>5EG645=<5 GG55=OE D<?L<>6.  

6 2 

 
�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 

 
7 D4745?4 

(F5<O) 
�<4 

74=OF<O  
�<4O D45>F �>?<G5EF6> 

G4E>6 

3 3 3 3 
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7. �&���'�/� ��&�$���/ ��/ &��'-��� ���&$��/ '%�������%&�, 
�$����'&�'��� �&&�%&�&�� 

 
7.1. �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 6 D4<>4E F5>GM57> 

>>=FD>?O GE?5645<>EF< 
 

'EF=O= >?D>E 3 ED54EF6> >>=FD>?O GE6>5=<O GG55=>7> <4F5D<4?4 ?> F5<4< 74=OF<=. 
�D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O: 55E54G 

?D5?>4464F5?O E >5GG4NM<<EO =4 F5<O, E6O74==O5 E <7GG45<>= 4<EF<??<=>=, < D4EEG<F4==>5 =4 
6OOE=5=<5 >5N5<4 7=4=<= >5GG4NM57>EO ?> >?D545?5==><G D4745?G, F5<5, ?D>5?5<5 
(<=4<6<4G4?L=> <?< DD>=F4?L=>). 

�>>474F5?< 4?O >F5=>< GEF=>7> >F65F4: 1) 7=4=<5 <4F5D<4?4; 2) ?>E?54>64F5?L=>EFL 
<7?>65=<O; 3) 6?445=<5 D5GLN < ?D>D5EE<>=4?L=>= F5D<<=>?>7<5=; 4) ?D<<5=5=<5 >>=>D5F=OE 
?D<<5D>6; 5) 7=4=<5 D4=55 <7GG5==>7> <4F5D<4?4; 6) GD>65=L F5>D5F<G5E>>7> 4=4?<74; 7) EF5?5=L 
E4<>EF>OF5?L=>EF<; 8) EF5?5=L 4>F<6=>EF< 6 ?D>F5EE5; 9) 6O?>?=5=<5 D57?4<5=F4. 

�?O ?>47>F>6>< > 44==><G >F5=>G=><G <5D>?D<OF<N =5>5E>4<<> <7GG<FL GG55=O5 
<4F5D<4?O ?> F5<5 74=OF<O, ?D>E<>FD5FL E?D46>G=<>< ?> 7D4<<4F<>5, 4 F4>65 ?>6F>D<FL 
<4F5D<4?O, 74?<E4==O5 6> 6D5<O ?D4>F<G5E><E 74=OF<=. 

&5EF<D>64=<5 3 ED54EF6> >>=FD>?O GE6>5=<O GG55=>7> <4F5D<4?4. �5 <5=55, G5< 74 =545?N 
4> F5EF<D>64=<O, ?D5?>4464F5?L >?D545?O5F 4?O >5GG4NM<EEO <EE>4=O5 44==O5 4?O ?>47>F>6>< 
> F5EF<D>64=<N: F5<O, 6>?D>EO, ?> >>F>DO< 5G4GF 7444=<O 6 F5EF>6>= D>D<5, ?<F5D4FGDG < 
<EF>G=<>< E F>G=O< G>474=<5< D4745?>6, F5<, EF4F5= 4?O ?>47>F>6><.  

&5EFO 6O?>?=ONFEO 6> 6D5<O 4G4<F>D=OE 74=OF<= E5<<=4DE>>7> F<?4 (?D4>F<G5E><E 
74=OF<=).  

�>?<G5EF6> 6>?D>E>6 6 F5EF>6>< 7444=<< >?D545?O5FEO ?D5?>4464F5?5<. 
�4 6O?>?=5=<5 F5EF>6 >F6>4<FEO 0,531 4>445<<G5E><= G4E.  
�=4<6<4G4?L=>5 F5EF>6>5 7444=<5 6O445FEO >5GG4NM5<GEO =4 5G<46=>< =>E<F5?5. &4>65 

F5EF<D>64=<5 <>65F ?D>6>4<FLEO E <E?>?L7>64=<5< >><?LNF5D=OE ED54EF6 < ?D>7D4<< 6 
E?5F<4?L=> >5>DG4>64==OE ?><5M5=<OE. 

�D< ?D>E>645=<< F5EF<D>64=<O ?>?L7>64FLEO GG55=<>4<< < GG55=O<< ?>E>5<O<< =5 
D47D5L45FEO. 

'D>65=L 7=4=<= >5GG4NM57>EO >?D545?O5FEO >F5=>4<< «>F?<G=>», «E>D>L>», 
«G4>6?5F6>D<F5?L=>», «=5G4>6?5F6>D<F5?L=>». 

�O?>?=5=<5 ?D4>F<G5E><E 7444=<= (D5L5=<5 7D4<<4F<G5E><E 7444G < 7444G, E6O74==OE E 
<=F5D?D5F4F<5= F5>EF4) 3 ?<EL<5==4O D>D<4 D45>FO EFG45=F4, >>F>D4O E?>E>5EF6G5F 
74>D5??5=<N < G7?G5?5=<N F5>D5F<G5E><E 7=4=<= < ?>76>?O5F ED>D<<D>64FL G EFG45=F>6 
=46O>< ?D<<5=5=<O MF<E 7=4=<= =4 ?D4>F<>5. 

�D4>F<G5E><5 7444=<O 6O?>?=ONFEO 6> 6D5<O 4G4<F>D=OE 74=OF<= E5<<=4DE>>7> F<?4 ?> 
?D54?>65==O< ?D5?>4464F5?5< <4F5D<4?4<.  

�>?<G5EF6> 7444=<= >?D545?O5FEO ?D5?>4464F5?5<. 
$57G?LF4F>< 6O?>?=5=<O 7444=<O O6?O5FEO >FGUF, >>F>DO= 4>?65= E>45D64FL:  =><5D, F5<G 

?D4>F<G5E>>= D45>FO; >D4F>>5 >?<E4=<5 >464>7> 7444=<O; 6O?>?=5==>5 7444=<5; >F65FO =4 
>>=FD>?L=O5 6>?D>EO. 

'D>65=L G<5=<= < =46O>>6 >5GG4NM57>EO >?D545?O5FEO >F5=>4<< «>F?<G=>», «E>D>L>», 
«G4>6?5F6>D<F5?L=>», «=5G4>6?5F6>D<F5?L=>». 

 
 

7.2. �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 6 D4<>4E 
?D><56GF>G=>= 4FF5EF4F<< 

�4G5F 3 MF> D>D<4 ?D><56GF>G=>= 4FF5EF4F<<, 7444G5= >>F>D>7> O6?O5FEO >><??5>E=>5 
>F5=>4 GD>6=5= 4>EF<65=<O ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=5.  
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�4G5F 4?O >G=>= D>D<O >5GG5=<O ?D>6>4<FEO 74 EG5F G4E>6, >F654U==OE =4 <7GG5=<5 
E>>F65FEF6GNM5= 4<EF<??<=O.  

�D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O >F5=>G 
D57G?LF4F>6 F5>GM57> >>=FD>?O GE?5645<>EF< EFG45=F4 6 F5G5=<5 ?5D<>44 >5GG5=<O ?> 
4<EF<??<=5. �?O ?>?GG5=<O 74G5F4 =5>5E>4<<> <<5FL ?>?>6<F5?L=O5 >F5=><, ?>?GG5==O5 6 
D4<>4E F5>GM57> >>=FD>?O GE?5645<>EF<, ?> >464>= F5<5, ?D54GE<>FD5==>= 4<EF<??<=>=. 

� >D<F5D<< <F>7>6>= >F5=>< GD>6=O ?>47>F>6>< >5GG4NM57>EO ?> 4<EF<??<=5 6E>4OF: 
- GD>65=L GE6>5=<O EFG45=F>< <4F5D<4?4, ?D54GE<>FD5==>7> D45>G5= ?D>7D4<<>=; 
- GD>65=L ?D4>F<G5E><E G<5=<=, ?D>45<>=EFD<D>64==OE EFG45=F>< ?D< 6O?>?=5=<< 

?D4>F<G5E><E 7444=<=; 
- GD>65=L >E6>5=<O >><?5F5=F<=, ?>76>?ONM<E 6O?>?=OFL ?D4>F<G5E><5 7444=<O; 
- ?>7<>4 <OL?5=<O, >5>E=>64==>EFL, G5F>>EFL, ?>?=>F4 >F65F>6. 
�4G5F 4?O >G=>= < 74>G=>= D>D<O ?> 4<EF<??<=5 6O?>?=5=<5 EFG45=F4<< 

>><??5>E=OE ?D4>F<G5E><E 7444=<= ?> F5<4<, <7GG5==O< 6 44==>< FD<<5EFD5.  
�D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O F4>65 55E54G 

?D5?>4464F5?O E >5GG4NM<<EO ?> 6>?D>E4<, >>F>DO5 5O?< ?>EF46?5=O 6 >><??5>E=>< 
?D4>F<G5E>>< 7444=<<, 55E544 =4?D46?5=4 =4 6OOE=5=<5 >5N5<4 7=4=<= >5GG4NM57>EO ?> 
>?D545?5==>= F5<5 4<EF<??<=O. 

&<?>6O5 ?D4>F<G5E><5 7444=<O > 74G5FG 4>6>4OFEO 4> E6545=<O EFG45=F>6 74D4=55.  
�D< ?>47>F>6>5 > >F65FG ?>?L7>64=<5 GG55=<>4<<, GG55=>-<5F>4<G5E><<< ?>E>5<O<<, 

ED54EF64<< E6O7< < M?5>FD>==O<< D5EGDE4<< =4 ?N5OE =>E<F5?OE 74?D5M5=>. 
�4 6O?>?=5=<5 >><??5>E=>7> ?D4>F<G5E>>7> 7444=<O >F6>4<FEO, >4> ?D46<?>, 30340 <<=GF. 
�>E?5 >>>=G4=<O >F65F4 ?D5?>4464F5?L >5NO6?O5F >5GG4NM5<GEO >F5=>G ?> D57G?LF4F4< 

74G5F4, 4 F4>65 6=>E<F MFG >F5=>G 6 4FF5EF4F<>==GN 654><>EFL, 74G5F=GN >=<6>G. 
'D>65=L 7=4=<=, G<5=<= < =46O>>6 >5GG4NM57>EO >?D545?O5FEO >F5=>4<< «74GF5=>», «=5 

74GF5=>». 
->74<5= 3  D>D<4 ?D><56GF>G=>= 4FF5EF4F<< ?> 4<EF<??<=5, 7444G5= >>F>D>= O6?O5FEO 

>><??5>E=4O >F5=>4 GD>6=5= 4>EF<65=<O ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=5. 
�D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O ?D54EF46?O5F E>5>= E>55E54>64=<5 ?> 
6>?D>E4<->5=E4<, 4 F4>65 >><??5>E=>5 ?D4>F<G5E>>5 7444=<5 (=5E>>?L>> 7444=<= D47=>7> 
F<?4) ?>6OL5==>= E?>6=>EF<, >>F>D>5 =4?D46?5=> =4 ?D>65D>G >4> 7D4<<4F<G5E><E 7=4=<= 
EFG45=F>6, F4> < D5G56OE >><?5F5=F<= (?>=<<4=<5 >5M57> E>45D64=<O F5>EF>6, 
?D>D5EE<>=4?L=>= F5D<<=>?>7<<, E?>E>5=>EFL > ?D46<?L=>= <=F5D?D5F4F<< <7?>65==OE 6 
F5>EF4E D4>F<G5E><E 44==OE). 

 
 

7.3. �F5=>G=O5 ED54EF64, >D<F5D<< < L>4?4 >F5=>< 
 

&<?>6O5 7444=<O 4?O F5>GM57> >>=FD>?O GE?5645<>EF<  
 

�5D5G5=L F<?>6OE 6>?D>E>6 4?O GEF=>7> >?D>E4 
�F65F =4 6>?D>E 4>?65= ?D54EF46?OFL E>5>= >D4F>>5 <>=>?>7<G5E>>5 6OE>47O64=<5  

=4 4=7?<=E>>< O7O>5 
 

1. �4=F5 >5M55 >?D545?5=<5 >G?LFGDO < >?D545?5=<5 >>D?>D4F<6=>= >G?LFGDO. 
2. �D4F>> >?<L<F5, GF> >5>7=4G45F 4=7?<=E>>5 6OD465=<5 «flexible thinking model». 
3. �D<654<F5 ?OFL ?D<<5D>6 D5G56>7> ?>6545=<O 6 E?GG45, >>744 =5>5E>4<<> E>>5M<FL 

E>55E54=<>G 3 ?D54EF46<F5?N 4DG7>= >G?LFGD=>= ED54O 3 =574F<6=GN <=D>D<4F<N 
(«communicating bad news»). 

4. �E4D4>F5D<7G=F5 >><<G=<>4F<6=O5 >E>55==>EF< E>55E54=<>>6: 4) «quiet person», 5) 
«talkative person», 6) «impatient person», 7) «over-analytical person». 

5. � GG55=>= ?<F5D4FGD5 ?D<6>4OFEO «five good reasons for listening». �47>6<F5 <E. 
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6. �E4D4>F5D<7G=F5 4=7?<=E>>5 ?>=OF<5 «Q & A phase of presentation». 
7. �47>6<F5 G4EF< EFDG>FGDO F<?>6>7> >G?LFGD=> =5=FD4?L=>7> M?5>FD>==>7> ?<EL<4. 
8. $4E>D>=F5 7=4G5=<5 455D56<4FGDO «A3I3R», >>F>DGN <E?>?L7GNF, >>744 7>6>DOF > 

=5>5E>4<<>EF< ?D54>F6D4M5=<O >>=D?<>F>6 6 ?>?<>G?LFGD=>= ED545. 
9. �4=F5 >?D545?5=<5 F5D<<=4 «feedback». �D<654<F5 =5E>>?L>> ?D<<5D>6. 
10. �4=F5 >?D545?5=<5 4=7?<=E>><G E?>6>E>G5F4=<N «diversity techniques». �D4F>> 

>E4D4>F5D<7G=F5 MF> ?>=OF<5. 
 

�D<F5D<< >F5=>< GEF=>7> >?D>E4 
�F5=>4 «>F?<G=>» 6OEF46?O5FEO EFG45=FG, 5E?< >= 6 ?>?=>= <5D5 D4E>DO? E>45D64=<5 

6>?D>E4, 57> D5GL E4D4>F5D<7G5FEO E>5?N45=<5< D>=5F<G5E><E < 7D4<<4F<G5E><E =>D< 
4=7?<=E>>7> O7O>4, =4EOM5=4 ?D>D5EE<>=4?L=O<< F5D<<=4<<. 

�F5=>4 «E>D>L>» 6OEF46?O5FEO EFG45=FG, 5E?< 6 ?D>F5EE5 >F65F4 >= 4>?GEF<? >4=G-465 
>L<5>< 6 D4E>DOF<< E>45D64=<O 6>?D>E4 <?< 6 ?>EFD>5=<< ?D54?>65=<= (7D4<<4F<G5E><5 
>L<5><). 

�F5=>4 «G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, 5E?< >= 6 F5?>< ?>=<<45F 
E>45D64=<5 <7GG5==OE F5<, <<55F ?D54EF46?5=<5 > 7D4<<4F<G5E><E =>D<4E, => 6 ?D>F5EE5 
>F65F4 4>?GE>45F 5>?55 46GE >L<5>>. 

�F5=>4 «=5G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, 5E?< >F65F ?> EGM5EF6G 
>FEGFEF6G5F, =5E<>FDO =4 =46>4OM<5 6>?D>EO ?D5?>4464F5?O. 

 
 

�5D5G5=L F<?>6OE F5EF>6OE 7444=<= 
 

1. '>46<F5 >?D545?5=<5, >>F>D>5 E>>F65FEF6G5F F<?G >>D?>D4F<6=>= >G?LFGDO «bottom-up». 
a) Eompanywide decisions are made by leadership at the top, and the rest of the employees are 

expected to follow, 
b) the company is characterized by positive feedback from customers, 
c) all team members have the opportunity to be included in, participate in, and contribute to the 

final product or service, 
d) the company is characterized by negative feedback from customers. 
 
2. �4><5 E?>64 4>?6=O EF>OFL =4 <5EF5 ?D>?GE>4 6> 6F>D>< ?D54?>65=<<, GF>5O 6EO DD474 

>?<EO64?4 65D=GN D5G56GN EFD4F57<N <56>G?LFGD=>= >><<G=<>4F<<: «The ways in which 
decisions are taken in meetings can differ significantly across different organizational and national 
cultures. It is important when starting an international meetings to _______________ what is to be 
decided and how it will be decided». 

a) &immediately prove your point of view on& 
b) &clarify and agree with participants& 
c) &say that in this case cultural differences do not matter and is not so important& 
d) &to say that all participants will work in accordance with the culture of your country and this is 

how they need to decide& 
 
3. �5D54 64<< FD< M?5<5=FO >><<G=<>4F<6=>= EFD4F57<<, >>F>DO5 <>6=> <E?>?L7>64FL 6 

E?GG45 ?5D57>6>D>6 E ?4DF=5D4<<, >>F>DO5 E4D4>F5D<7GNFEO >4=<< <7 F<?>6 >><<G=<>4F<6=>7> 
?>6545=<O, E6O74==>7> E >E>55==>EFO<< =4F<>=4?L=>= >G?LFGDO: «1) Apologize and interrupt: Petra, 

sorry to interrupt but... 2. Interrupt with a good reason: Toni, can I stop you for a moment? I think we 

need to heat what others think. 3. Use positive phrase to begin and end: That9s an important point, 

Franko. Can we hear Marie and I9ll come back to you in a moment?» �?O >4>>7> F<?4 
>><<G=<>4F<6=>7> ?>6545=<O ?>4E>4<F >?<E4==4O D5G564O EFD4F57<O? 

a) quiet person, 
b) impatient person, 



14 

c) over-analytical person, 
d) talkative person. 
 
4. � E?54GNM5< ?D54?>65=<< >?<E4=4 >4=4 <7 EFD4F57<= E>D>L57> E?GL4F5?O («better 

listener»): «In order to work effectively with people from different cultures, we need to listen out for their 
attitudes to key concepts such as leadership, teamwork, punctuality, quality and customer service». � 
>4>>= <7 ?5D5G<E?5==OE EFD4F57<= <45F D5GL? 

a) get useful information, 
b) profile competence level, 
c) understanding values and attitudes, 
d) offer help with work, 
e) support emotionally. 
 
5. �64 E>FDG4=<>4 D<D<O �65== < �6>= <<5NF D47?<G=O5 «cultural backgrounds», => >=< 

4>?6=O D45>F4FL 6<5EF5 =44 >4=<< ?D>5>F><, GF>, 6>7<>6=>, ?D<6545F > >>=D?<>FG. �4>>= <7 
M?5<5=F>6 <>45?< GD57G?<D>64=<O >>=D?<>F>6 «A3I3R» >?<E4= 6 E?54GNM<E ?D54?>65=<OE: 
«Jane and John might problems working together in the coming weeks of the project. They may disagree 
about the best way to solve project problems». 

a) A, 
b) I, 
c) R. 
 

�D<F5D<< < >F5=>< F5EF<D>64=<O 
�>?<G5EF6> ?D46<?L=OE >F65F>6: 
�5=55 5 (<7 10 6>?D>E>6) 3 «=5G4>6?5F6>D<F5?L=>», 
536 3 «G4>6?5F6>D<F5?L=>», 
738 3 «E>D>L>», 
9310 3 «>F?<G=>». 

 
 

&<?>6O5 7444=<O 4?O ?D4>F<G5E>>= ?>47>F>6>< >5GG4NM<EEO 
 

�D4>F<G5E>>5 7444=<5 1 
�D>G<F4=F5 >?<E4=<5 >E>55==>EF5= >>D?>D4F<6=>= >G?LFGDO >><?4=<<, G>46<F5, >4><5 

DD47O 4>?6=O EF>OFL =4 <5EF5 ?D>?GE>>6 
 

a) project-driven, b) we value, c) generally, we try to take care, d) we see ourselves as, e) the focus 
is on, f) the leadership style, g) trusting people, h) a lot of time is given to 

 
We9re a small consulting company and the culture and (1) __________ is relatively informal in 

general. (2) __________ flexible, not too over-structured. (3) __________ satisfying customers so we 
tend to adapt to what they need. (4) __________ creativity so people have a lot of freedom to innovate 
and come up with new ideas. Relationships are really important here and so (5) __________ talking to 
customers who visit the company. (6) __________ of people inside the organisation and we have weekly 
team meetings where people can talk about problems and get support. We9re quite a (7)  __________ 
organisation but there9s a fairly relaxed attitude to time and schedules and decision making: for us people 
come first. It9s seldom that people are put under a lot of pressure with strict deadlines. (8) __________ to 
get the job done is better than monitoring them all the time. And we definitely don9t have an email 
culture. We communicate just by picking up the phone! 
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�D4>F<G5E>>5 7444=<5 2 
%>?>EF46LF5 E>65FO ?> ?>6545=<N 6> 6D5<O ?5D6OE D45>G<E 6EFD5G 6 D47=OE EFD4=4E E 

=4764=<O<< MF<E EFD4= 
 
a) Senegal, b) Japan, c) Germany, d) Kazahstan. 
 
1. Greetings are rather formal due to the hierarchical nature of society. The common greeting is the 

handshake, often done with both hands and a smile. Some men will not shake hands with women, so be 
sensitive to these religious differences. Wait until invited before using someone's first name, although the 
invitation generally comes early in the relationship. 

2. Greetings are formal. A quick, firm handshake is the traditional greeting. Titles are very 
important and denote respect. Use a person9s title and their surname until invited to use their first name. 
In general, wait for your host or hostess to introduce you to a group. When entering a room, shake hands 
with everyone individually, including children. 

3. Greetings are very formal and ritualised. It is important to show the correct amount of respect and 
deference to someone based upon their status relative to your own. If at all possible, wait to be 
introduced. It can be seen as impolite to introduce yourself, even in a large gathering. A foreign visitor 
may bow the head slightly, since no one expects foreigners to generally understand the nuances of 
bowing. 

4. When people greet, they take time to ask about the health and welfare of family members. It is 
customary for these questions to be asked over a very long handshake. People should be addressed by 
their academic, professional or honorific title and their surname or first name. 

 
 

�D4>F<G5E>>5 7444=<5 3 
�D>G<F4=F5 >?<E4=<5 D5G56>= EFD4F57<<, >>F>D4O ?>76>?O5F <75564FL >><<G=<>4F<6=OE 
?D>5?5< ?D< >5EG645=<< ?>7<F<6=>= < =574F<6=>= <=D>D<4F<<. �4F5< ?D>G<F4=F5 F5>EF 

6EFG?<F5?L=>7> E?>64 IT-<5=5465D4 <564G=4D>4=>= >><4=4O. %>?>EF46LF5 =><5D4 
?D54?>65=<= E F5<< ?G=>F4<< EFD4F57<<, >>F>DO5 << E>>F65FEF6GNF  

 
Communicating good and bad news 
a) Highlight good news, 
b) Give positive feedback, 
c) Show respect for the other person9s time when asking for something to be done, 
d) Apologise for any problems, 
e) State clearly your positive motivation, 
f) Be open and honest with bad news, 
g) Show understanding of the other person9s point of view / needs. 
 
O>, let9s turn now to our IT harmonization project which we started at the end of last month. 

(1) Now I know that many of you were a little worried about disruption to services. And, (2) in fact we 
did have a few problems and lose some data during the migration. So, today (3) I would like to take this 
opportunity at the beginning to say I9m sorry for that. However, to better news: (4) I am happy to 
announce to you today that the project has been completed on budget and on time, which is a fantastic 
result. So I should also say (5) a big 8well done9 to you and all of the staff of your departments. So, what9s 
next? Well, we now move to Phase 2 of the project, which means we want to change some functionalities 
offered under home banking. (6) I know that this is a busy time of year for you with budget preparation 
but we don9t believe Phase 2 will cause too much extra work for you. And at the end of the day (7) our 
main objective is to help you do your jobs more efficiently and deliver a better quality to the customer, 
which we all want. So, let9s start with a more detailed look at Phase 2. I9ve asked Vladimir to talk us 
through this. So, over to you, Vladimir. 
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�D4>F<G5E>>5 7444=<5 4 
�D>G<F4=F5 G5FOD5 M?5>FD>==OE ?<EL<4: 1) >5 >D74=<74F<< 6EFD5G<, 2) > F><, GF> >4<= <7 

E>55E54=<>>6 ?>4F65D6445F 6D5<O < <5EF> 6EFD5G<, 3) ?<EL<>, 6 >>F>D>< E>55E54=<> ?D>E<F 
?D54>EF46<FL 646=GN <=D>D<4F<N, 4) ?<EL<>, 6 >>F>D>< >5NOE=O5FEO 6>7=<>L4O ?D>5?5<4. 
�<EL<4 =4?<E4=O 6 >G?LFGD=> =5=FD4?L=>< 656?<6>< EF<?5. �4?>?=<F5 E?>64<< <7 E?<E>4 

?D>?GE>< 6 F5>EF4E ?<E5< 
 

a) appreciate, b) confirm, c) getting, d) let, e) suggest, f) arrange, g) convenient, h) helpful, 
i) opening, j) writing, k) book, l) discuss, m) invitation, n) seeing. 

 
Organising a meeting 
I am (1) _______ to (2)  _______ our next P12 meeting to (3) _______ the new sales strategy for 

Eastern Europe. I would (4) _______13.00318.00 on 15 January in the Berlin office.  
Please (5) _______ me know as soon as possible if this date is (6) _______. 
Best regards 
 
Confirming a meeting 
Thank you for the meeting (7)  _______. I can (8) _______ that 15 January works well for me. 
Could you please (9) _______ a room for me in the Hilton, as usual? 
Looking forward to (10) _______ you then. 
 
Requesting information 
I9m just (11) _______ in touch to request a copy of your latest catalogue of management training 

products. 
It would be (12)  _______ if you could also send me information on your computer training courses. 
 
Explaining a problem 
I am having problems (13) _______ the attachment you sent this morning. When I click to open, my 

mailbox freezes and I have to reboot. 
I would really (14) _______ it if you could check for viruses and then resend. 
 

 
�D4>F<G5E>>5 7444=<5 5 

�D>G<F4=F5 F5>EF > >>=D?<>F5 =4 D45>F5, E6O74==>< E =5?>=<<4=<5< >G?LFGD=OE 
F5==>EF5=. �F65FLF5 =4 6>?D>EO 

 
In a recent Hollywood movie production with the action set in Japan the stage was covered with 

tatami mats, a grass floor covering typical in Japan. The Japanese members of the production team 
requested that their American colleagues removed their boots before walking on the tatami. The 
Americans agreed to do this but increasingly made 8quick changes9 to lighting or electrical components 
without taking boots off. Symbolically, this behaviour by the Americans communicated disrespect to the 
Japanese, who became increasingly upset by the Americans9 failure to remove their boots. It led to 
increasingly poor relationships and other conflicts. 

Positive change only came when the Japanese realised that the Americans did not understand the 
symbolic importance that the Japanese attached to respecting tatami. In their next meeting, the Japanese 
compared the place of tatami in their culture to the place of the US flag in American culture, asking the 
Americans to please act as they would if the US flag were on the floor. Hearing this, the American 
perception of the situation changed; they understood the feelings of their Japanese colleagues and 
changed their behaviour, enthusiastically removing their boots every time they walked on the tatami. 

 
�>?D>EO: 
1) What was the conflict about?  
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2) How did the Japanese collegues manage to resolve the conflict? 
 

�D<F5D<< < L>4?4 >F5=>< 6O?>?=5=<O  ?D4>F<G5E><E 7444=<= 
�F5=>4 «>F?<G=>» 6OEF46?O5FEO EFG45=FG, 5E?< >= E4<>EF>OF5?L=> < ?D46<?L=> 6O?>?=<? 

?D4>F<G5E>>5 7444=<5, E?>E>55= G65D5==>, ?>7<G=>, ?>E?54>64F5?L=> < 4D7G<5=F<D>64==> 
>5NOE=<FL E6>< D5L5=<O, ?>?L7GOEL ?D>D5EE<>=4?L=O<< F5D<<=4<<. 

�F5=>4 «E>D>L>» 6OEF46?O5FEO EFG45=FG, 5E?< ?D< 6O?>?=5=<< 7444=<O >= 4>?GEF<? 465-FD< 
>L<5><, >4=4>> ?D< G>474=<< =4 MF< >L<5>< E<>7 ?57>> <E <E?D46<FL < >5NOE=<FL, ?>G5<G >=< 
5O?< 4>?GM5=O. 

�F5=>4 «G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, 5E?< ?D< 6O?>?=5=<< 7444=<O >= 
4>?GEF<? 5>?55 FD5E >L<5>>, E FDG4>< E?>E>55= >5NOE=<FL, ?>G5<G MF< >L<5>< 5O?< 4>?GM5=O. 

�F5=>4 «=5G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, 5E?< >= =5 6O?>?=<? ?D4>F<G5E>>5 
7444=<5 <?< 6O?>?=<? E 7DG5O<< >L<5>4<<. 

 
 

&<?>6O5 7444=<O 4?O ?D><56GF>G=>= 4FF5EF4F<< (74G5F4) 
 

�D54EF46LF5 E555 E<FG4F<N: �> �D4EE5UD7 3 44FG4=<=, >>F>DO= ?D<5E4? 6 �5D<4=<N < 
D45>F45F 6 <564G=4D>4=>= >><?4=<<, >>F>D4O 74=<<45FEO ?D>4465= M?5>FD>=<><. 
�D>G<F4=F5 <=F5D6LN E =<<, 6 >>F>D>< �> 7>6>D<F > ?D>5?5<4E <56>G?LFGD=>= 

>><<G=<>4F<< E F>G>< 7D5=<O =4F<>=4?L=OE < >>D?>D4F<6=OE >G?LFGD. �O?>?=<F5 
7444=<O > F5>EFG 

 
*Interviewer: �>, is it important to you to think about culture when communicating 

internationally? Is it useful? 
*Bo: Well, someone once gave me an interesting definition of culture. She said, 8Culture is what 

makes us different9. There are a million ways in which we9re all the same 3 we all need food, love and 
security and all that. But then there are also a million ways in which we9re all different, and you can call 
that 8culture9. When I sit here in my office in Germany and call someone in Russia or Spain, I don9t think 
I9m calling Russia or Spain, but I do think I9m calling someone who is likely to be communicating in a 
different way to me. Understanding that there is a difference possible in communication is very, very 
important. That9s the key point about understanding culture. Is that making sense? 

Interviewer: Yes. absolutely. 
Bo: So, while it9s nice to know most Hungarians do this or Russians do that 3 the kind of 8dos and 

don9ts9 checklist approach 3 for me that9s not really useful. The main thing is to understand that people 
are different. And that when you say something and the other person doesn9t say anything back, that may 
not mean the same for them that it means for me. It could be they don9t understand, maybe they9re being 
polite, maybe they disagree. 

Interviewer: So when we9re talking about culture, what is useful? Is talking about national culture 
too high-level, too general? 

Bo: Absolutely. I think the business sector or company culture is more important. I work in a retail 
culture 3 selling electronic goods. Retail is fast, there9s an orientation towards opportunity not risk, 
people are action-oriented. 8We9ll just do it and see what happens.9 That9s an attitude you find very often 
in our company. But even company culture is complex 3 there9s gender culture, departmental culture... at 
the headquarters here we have at least 20 cultures! That9s really important. In fact, every individual has a 
culture, and they9re all different from mine. 

Interviewer: And do these different departmental cultures cause problems internally? 
Bo: Absolutely. Big misunderstandings in communication. I can give you a couple of examples. 

When we open new stores then we9ve got basically two major players in the company. One is the 
construction department 3 they buy all the stuff, they write the plans, and so on. The other is the sales 
team. They see themselves as, you know, the kings of the company because they sell things. 8We make 
the money.9 And they9re in charge of how things look. 8Where shall we put the TVs... to the left or to the 
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right when you go in the store?9 ...bla bla bla... and they like to be creative 3 their approach is all about 
the customer. So when the construction guys come with their store plan, for them it9s a finished store 
design, their focus is all on planning, but the sales team take it more as a kind of suggestion, you know. 
They love ideas! And they have no problem two or three weeks before the store is meant to open in 
saying 8We want to move the entrance, we need it here not there9, and the construction department goes 
nuts. So that9s an internal and specifically departmental thing 3 different priorities around planning and 
creativity and customer focus. And at the end of the day this can cause delays and cost the company 
money. 

Interviewer: Do other departments have similar problems? 
Bo: Well, we also have a problem with IT. On the IT side of our company they go into way too 

much technical detail, 50 slides in a presentation and all that. And then on the other hand you have the 
business side where there9s a real lack of understanding of how things work, how things are connected. 
They just make a decision and they don9t know what that means in terms of putting it into life with IT 
systems 3 the costs, the problems. They just need to get more realistic. So IT is all about focus on systems 
and making things work versus focus on, I guess, making money, which is the priority of the business 
side. 

Interviewer: Is there a solution to all this? 
Bo: Well, we created job to deal with this problem. I was talking to this guy recently and I asked 

him what his job is and he said he9s a translator. I said, 8What do you mean, a translator?9 and he said, 8I 
translate between IT and business.9 And I said, 8Ah, OK.9 And he said, 8These two parts of the business 
just don9t connect. They need me to be an interpreter so they can work together.9 I think in a way this is 
the solution, what we all need to do is, first, understand and describe our own culture and describe and 
understand the cultures of others. Then we can begin, as this guy said, 8to translate9. And then it9s 
possible to start to communicate across cultures. 

 
�444=<5 1 

�<EL<5==> ?5D5654<F5 D5??<>< <=F5D6LN, >F<5G5==O5 76574>G>4<< 
 

�444=<5 2 
�4?<L<F5 =4 4=7?<=E>>< O7O>5 >D4F><5 >F65FO =4 6>?D>EO (6O <>65F5 >F65F<FL E6><<< 

E?>64<< <?< 6O?<E4FL ?D54?>65=<O <7 F5>EF4, >>F>DO5 E?G64F >F65F4<< =4 6>?D>EO) 
  

1.What does Bo define as 8the key point about understanding culture9? 
2. For Bo, how useful are checklists on national culture (dos and don9ts) as a method of learning 

about national cultures? 
3. Bo works in a retail organisation which sells electronic goods. How does he describe the culture 

of the retail sector? 
4. What causes 8big misunderstandings in communication9 in his company, according to Bo? 
5. The first example involves the construction department and which other department? 
6. Why does this other department see itself as 8the kings of the company9? 
7. What is the main difference in approach to store design between the two departments? 
8. What does Bo say can be the result of the cultural differences between departments? 
9. In the second example, which part (side) of the company does Bo describe first? What is the 

problem with this part of the company, according to Bo? 
10. What is the second part (side) of the company? What is the problem? 
11. How does Bo summarise the differences between the cultures of these two parts (sides)? 
12. What does Bo describe as the 8simple solution9 to dealing with these cultural differences? 
 

�444=<5 3 
�5D54 64<< E?<E>> F5D<<=>6, >>F>DO5 <E?>?L7GNFEO 6 4=7?<=E>>< O7O>5 4?O 

<5F4D>D<G5E>>7> >?<E4=<O D47?<G=OE 6<4>6 >>D?>D4F<6=>= >G?LFGDO. �4=4<F5 6> 6F>D>< 
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E?<E>5 F5D<<=O, >>F>DO5 <>6=> EG<F4FL 4=F>=<<4<< E>>F65FEF6GNM<E F5D<<=>6 6 ?5D6>< 
E?<E>5. �O?<L<F5 ?4DO 4=F>=<<>6 

 
1. Top-down, people-oriented, risk-oriented, quality-focused, team-oriented. 
2. Task-oriented, individualistic, cost-driven, action-oriented, bottom-up. 
 

�444=<5 4 
�M5 D47 ?>E<>FD<F5 =4 F5>EF <=F5D6LN �> �D4EE5UD74. �4><5 <7 F5D<<=>6 <7 7444=<O 3 

>= <E?>?L7G5F / <E?>?L7>64? 5O 4?O >?<E4=<O >>D?>D4F<6=>= >G?LFGDO >F45?4 ?D>446 (sales 
team), >><4=4O IT-E?5F<4?<EF>6 (IT side) < 5<7=5E->F45?4 (business-side). �4?<L<F5 >F65FO =4 

4=7?<=E>>< O7O>5, ?>4F65D4<F5 >F65FO E>>F65FEF6GNM<<< DD474<< <7 F5>EF4 
 

�D<<5D. The new job of «translator» Bo describes as people-oriented: «They need me to be an 
interpreter so they can work together». 

 

�D<F5D<< >F5=>< 74G5F4 
�F5=>4 «74GF5=>» EF46<FEO EFG45=FG, 5E?< >= 445>64F=> ?5D565? 7444==O= DD47<5=F F5>EF4 < 

6O?>?=<? 6E5 7444=<O (?D< 6O?>?=5=<< 7444=<= <>65F 5OFL 4>?GM5=> =5 5>?55 G5FOD5E >L<5>>). 
�F5=>4 «=574GF5=>» EF46<FEO, 5E?< EFG45=F =5 6O?>?=<? E>FO 5O >4=> <7 7444=<= (6 F>< 

G<E?5 ?5D56>4 7444==>7> DD47<5=F4) <?< ?D< 6O?>?=5=<< 7444=<= 4>?GEF<? 5>?55 G5FOD5E 
>L<5>>. 

 

 
�5D5G5=L F<?>6OE 6>?D>E>6->5=E>6 4?O ?D><56GF>G=>= 4FF5EF4F<< (M>74<5=4) 

 
1. �?<L<F5 6>7<>6=O5 D47?<G<O >>D?>D4F<6=OE >G?LFGD 6 D47?<G=OE >>??5>F<64E: 

4) >><4=44 6>5==>7> >>D45?O, 5) E>FDG4=<>< 5>?L=<FO, 6) E>FDG4=<>< 54=>4. �E?>?L7G=F5 
>D<F5D<<: F5<? D45>FO, >D<5=F4F<O D45>G5= ED54O =4 ?D>O6?5=<5 <=4<6<4G4?L=OE <?< 
>><4=4=OE >4G5EF6 ?<G=>EF<, EF5?5=L 65EF>>EF< <5D4DE<<, EF<<G?O 45OF5?L=>EF< (D<=4=E>6O5, 
F5==>EF=O5). 

2. �O 6545F5 ?5D57>6>DO > 74>?NG5=<< >>=FD4>F4 E ?D54EF46<F5?5< 4) the coconut culture, 5) 
the peach culture. �?<L<F5 >E>55==>EF< 6>7<>6=>7> ?>6545=<O MF<E ?N45=, >4><5 D5G56O5 
F4>F<>< 6O <E?>?L7G5F5 6 ?5D57>6>D4E 6 >464>< E?GG45. 

3. $4EE>46<F5 > FD5E >E=>6=OE >><<G=<>4F<6=OE EF<?OE, >?<E4==OE 6 D45>F5 «Riding the 
waves of culture» $. &D><?5=4DE4 < '. %4<?45=-&UD=5D4. �4>>= <7 EF<?5= E4D4>F5D5= 4?O 
DGEE>>= (64L5= =4F<>=4?L=>=) O7O>>6>= >G?LFGDO. �D<654<F5 ?D<<5D. 

4. �O 4>?6=O ?D>65EF< >>=EG?LF4F<N ?> 45?>6O< 6>?D>E4< E ?4DF=5D4<<, >>F>DOE <>6=> 
>E4D4>F5D<7>64FL E?54GNM<<< >?D545?5=<O<<: 4) «quiet person», 5) «talkative person», 6) 
«impatient person», 7) «over-analytical person». �D<654<F5 ?D<<5DO >><<G=<>4F<6=OE EFD4F57<=, 
>>F>DO5 <>6=> <E?>?L7>64FL 6 >464>< E?GG45, GF>5O <75564FL ?D>5?5< 6 >5M5=<<. 

5. � GG55=>= ?<F5D4FGD5 ?D<6>4OFEO «five good reasons for listening»: understanding values 
and attitudes, profile competence levels, get useful information, offer help with work, support 
emotionally. �D54EF46LF5, GF> 64< =G6=> 6OE?GL4FL 4>>?44 ?D54EF46<F5?O 7>EF<=<G=>7> 5<7=5E4 
<7 �=7?<<. � 57> 4>>?445 GG6EF6G5FEO =5G65D5==>EFL, => 6 F> 65 6D5<O 6O ?>=<<45F5, GF> <<55F5 
45?> E >?OF=O< G5?>65>><. �?<L<F5, >4> «five good reasons for listening» ?><>7GF 64< =4?44<FL 
>>=F4>F E MF<< G5?>65>><. 

6. �O ?>47>F>6<?< ?D575=F4F<N E6>57> ?D>4G>F4 < E>5<D45F5EL ?D54EF46<FL 57> 6 %,�, 
$<=?O=4<< < �<F45, ?D54EF46<F5?< >464>= <7 EFD4= 5G4GF 744464FL 64< 6>?D>EO. $4EE>46<F5 > 
F><, >4>>7> F<?4 6>?D>EO (challenging, polite, indifferent etc.) 6>7<>6=O 6 >464>< <7 E?GG456, 
>4>>= 5G45F 64L4 D54>F<O =4 =<E? 

7. �O D45>F45F5 E <564G=4D>4=>= >><4=4>= E>FDG4=<>>6 < 4>?6=O G554<FL <E 6 F><, GF> 
>464O= <7 =<E E?>E>55= G44G=> ?D>65EF< ?5D57>6>DO E ?D54EF46<F5?5< ?N5>= >G?LFGDO. 
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%>EF46LF5 >>D>F><= <>F<64F<>==O= <>=>?>7, =4G<=4NM<=EO DD47>=: «A good negotiator is 
someone who&». 

8. �>45?L GD57G?<D>64=<O >>=D?<>F>6 6 ?>?<>G?LFGD=>= ED545 ?D54EF46?O5FEO 
455D56<4FGD>= «A3I3R» (anticipation possible conflict 3 identify potential sources of conflict 3 
recommend a way to avoid conflict). �D54EF46LF5 E555, GF> 64L 5<7=5E-?4DF=5D <=4<5F 6E5744 
>55M45F 6O?>?=<FL D45>FG 6 ED>>, => ?>EF>O==> 7445D6<645F 55, 6O ?D<6O>?< > F>G=>EF<, 
>G?LFGD=O5 FD44<F<< 64L57> ?4DF=5D4 =5 ?>76>?ONF E>474FL «=5F». $4EE>46<F5, >4> ?D<<5=<FL 
«A3I3R» <>45?L 4?O F>7>, GF>5O =5 4>?GEF<FL 6>7<>6=>7> >>=D?<>F4. 

9. �O D4EE>47O645F5 =>6><G E>FDG4=<>G, >4> D5L<FL 7444GG, >>F>D4O =4 4=7?<=E>>< 
>?<EO645FEO DD47>=: «To create a team feedback culture in an international team». %>EF46LF5 E>65FO 
E>FDG4=<>G, >?<D4OEL =4 ?>=OF<O: «good atmosphere», «feedback on others9 behaviour», «positive 
team impact», «encouraging questions». 

10. � D45>F5 �. �E5>D=4 «Applied Imagination: Principles and Procedures of Creative 
Thinking» =4764=O E5<L L47>6 >D74=<74F<< MDD5>F<6=>7> «<>77>6>7> LFGD<4». �E4D4>F5D<7G=F5 
>464O= <7 =<E.  

 
 

&<?>6O5 ?D4>F<G5E><5 7444=<O 4?O ?D><56GF>G=>= 4FF5EF4F<< (M>74<5=4) 
 

�444=<5 1 
�D>G<F4=F5 >?<E4=<5 E<FG4F<< >><<G=<>4F<6=>= =5G44G< D<=4=E>6>7> >>=FD>?5D4 �65>4, 
E6O74==>= E =54>EF4F>G=O< 7=4=<5< >E>55==>EF5= =4F<>=4?L=>= >G?LFGDO. %D>D<G?<DG=F5 

=4 4=7?<=E>>< O7O>5 >F65FO =4 6>?D>EO > F5>EFG 
 

Case description. Jack is a financial controller based in New York. He has asked Akash, a 
colleague in India, several times over the last ten days to email him some local budget figures which are 
needed to create a central report. However, despite a recent phone call from Akash promising to send the 
report the next day. Jack has not received any budget figures. He decides to send this email about the 
problem to two colleagues with experience of working in India. 

 
Jack9s email. 
Hi! How goes it? Hope you9re busy. Look, sorry to trouble you but I have a bit of a challenge with 

Akash in Bangalore. I keep requesting figures, getting a promise to deliver, but then I never get anything. 
To be honest, I9m getting annoyed because this whole style of promising and then not delivering is just 
unprofessional. I9m also worried because I need the figures for my own report in the next week 3 if I don't 
get that. I9ll miss one of my key targets. I9m thinking of escalating the problem and writing a very direct 
email to Akash9s boss and copying in my boss. What do you think? Any advice would be much 
appreciated! 

Best regards 
Jack 
 
Questions. 
1. What is the problem from Jack9s point of view? 
2. How well do you think Jack understands the reasons for Akash9s behaviour? Does he realize that 

there may be some cultural problem? 
3. What is Jack9s proposal to 8solve9 the problem?  
 
 

�444=<5 2 
�D>G<F4=F5 F5>EFO M?5>FD>==OE ?<E5<, >>F>DO5 �65> <7 7444=<O 1 ?>?GG<? >F E6><E >>??57 

�5FD4 < �6>=4. �5D5654<F5 =4 DGEE><= O7O> ?N5>5 <7 ?<E5<. �?<L<F5 >D4F>> =4 
4=7?<=E>>< O7O>5 (6 >4=><-46GE ?D54?>65=<OE), >4><5 ?D54?>?>65=<O > ?D<G<=4E 
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>><<G=<>4F<6=>= =5G44G< < >4><5 D5>><5=44F<< ?> D47D5L5=<N E<FG4F<< E>45D64FEO 6 
>464>< ?<EL<5 

 
Piotr9s email. 
Hi Jack! 
Sorry to hear about the problems. Not sure what is going on. I heard that quite a few managers in 

the local operation in India are unhappy about the new centralised reporting system. This might explain 
the delay in getting figures to you. Seems like they feel you9re checking up on them! 

Not sure about the escalation idea. What kind of relationship do you have with Akash and his 
manager? You haven9t visited them yet, have you? I think you should probably get across there and do 
some relationship building. All this asking for figures by email can come across as pretty disrespectful 
sometimes. Be careful just relying on mail. 

If you want to talk more about it, give me a call! 
Piotr 
 
John9s email. 
Dear Jack! 
I had a similar problem last year. Kept asking for information but never got anything. The problem 

actually IT. They couldn9t get the figures out of the system for some reason. And they didn9t want to tell 
me because they didn9t want to say no to me... so they said yes all the time and never delivered. It9s 
actually a cultural thing. 

To get things moving, you could ask your boss to speak to the local boss in India. Probably best 
handled at that level as you may not have the authority to speak to high-level management. It can be very 
hierarchical there, as you know. 

Sorry I can9t be more helpful. Good luck! 
Cheers 
John 
 

�444=<5 3 
�D>G<F4=F5 6OE>47O64=<5 >G?LFGD>?>74 �D5=74 %F>DF< > 7=4G5=<< «7<5>>7> <OL?5=<O» 6 
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> F5>EFG 
 
The ability to interpret situations, problems, practices 3 the way we do things 3 from multiple 

perspectives, from the way other people see them, is a tremendous benefit to you and your company. You 
begin to understand that behaviour that makes no sense to you might make perfect sense to others. You9re 
not so quick to judge any more... you give the benefit of the doubt. 

Flexible thinking stops people judging others9 behaviours negatively too quickly. It makes people 
more open and interact more positively with each other and creates a stronger foundation for cooperation 
and mutual learning 3 all with the simple step of trying to understand the world from the other person9s 
point of view. 

 
Questions. 
1. Which ability does Storti say can produce real benefits for those working internationally? 
2. What does flexible thinking stop people doing, according to Storti? 
3. How can flexible thinking improve cooperation between people? 
 

�444=<5 4 
� 7444=<< ?D<6545=O D5G56O5 D>D<G?O. �4644O ?4D4 <>65F 5OFL E=4565=4 747>?>6>><, 

>?<EO64NM<< D5G56GN EFD4F57<N «7<5>>7> <OL?5=<O». %>?>EF46LF5 ?4DO 6OE>47O64=<= < 
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Headings: «Evaluating different perspectives», «Asking for the opinion of others», «Giving an 
opinion», «Generating multiple interpretations», «Deciding what to do». 

 
1. &&&&&&&&&&&&& 
I tend to think that...  
From my perspective... 
 
2. &&&&&&&&&&&&& 
What do you reckon?  
How do you see it? 
 
3. &&&&&&&&&&&&& 
Could we look at it another way and say that... ?  
Just putting myself into her shoes, maybe...? 
 
4. &&&&&&&&&&&&& 
This makes a lot of sense if we assume that...  
If this is the case, then you9re right that... 
 
5. &&&&&&&&&&&&& 
Given what has happened, I think it would be best if...  
In the circumstances the best thing to do is to... 
 

�D<F5D<< < L>4?4 >F5=>< M>74<5=4 
�F5=>4 «>F?<G=>» EF46<FEO, 5E?< EFG45=F ?>?=>EFLN < 557 >L<5>> 6O?>?=<? 6E5 7444=<O, 

445>64F=> ?5D565? 6O5D4==O= >FDO6>> F5>EF4. 
�F5=>4 «E>D>L>» EF46<FEO, 5E?< ?D< 6O?>?=5=<< 7444=<= EFG45=F 4>?GEF<? 4> G5FOD5E 

>L<5>>, 6 F5?>< ?D46<?L=> ?5D565? 6O5D4==O= >FDO6>> F5>EF4. 
�F5=>4 «G4>6?5F6>D<F5?L=>» EF46<FEO, 5E?< EFG45=F ?D< 6O?>?=5=<< 7444=<O 4>?GEF<? >F 

?OF< 4> E5<< >L<5>>, E >L<5>4<< ?5D565? F5>EF ?D< E>ED4=5=<< >5M57> E<OE?4. 
�F5=>4 «=5G4>6?5F6>D<F5?L=>» EF46<FEO, 5E?< EFG45=F 4>?GEF<? 5>?55 E5<< >L<5>> < (<?<) 

=5 E<>7 ?5D565EF< E>FO 5O FD< ?D54?>65=<O F5>EF4. 
 
 

8. ''����-��&���'�%��� � ��$�$��&������ ���%��'���� 
��%&�����/ 

 
8.1. �E=>6=4O ?<F5D4FGD4 
�>??46E>4O, &. �.  �=7?<=E><= O7O>. �D>5?5<O >><<G=<>4F<< : GG55=>5 ?>E>5<5 4?O 6G7>6 / 

&. �. �>??46E>4O, &. �. %OE>564. 3 �>E>64 : �744F5?LEF6> .D4=F, 2023. 3 175 E. 3 (�OEL55 
>5D47>64=<5). 3 ISBN 978-5-534-07461-1. 3 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 
.D4=F [E4=F]. 3 URL: https://urait.ru/bcode/516622. 

&4D4FGE<=4, .. �.  �56>G?LFGD=4O >><<G=<>4F<O. %5<<>F<G5E><= ?>4E>4 : GG55=<> < 
?D4>F<>G< 4?O 6G7>6 / .. �. &4D4FGE<=4, �. �. &O74=>64. 3 �>E>64 : �744F5?LEF6> .D4=F, 2023. 3 
199 E. 3 (�OEL55 >5D47>64=<5). 3 ISBN 978-5-534-08259-3. 3 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/516714. 

 
8.2. �>?>?=<F5?L=4O ?<F5D4FGD4 
�D>L<=4, �. �.  �56>G?LFGD=4O >><<G=<>4F<O: 4=7?<=E><= O7O> < >G?LFGD4 =4D>4>6 �>EF>G=>= 

�7<< : GG55=>5 ?>E>5<5 4?O 6G7>6 / �. �. �D>L<=4. 3 2-5 <74., <E?D. < 4>?. 3 �>E>64 : �744F5?LEF6> 
.D4=F, 2023. 3 399 E. 3 (�OEL55 >5D47>64=<5). 3 ISBN 978-5-534-12403-3. 3 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 3 URL: https://urait.ru/bcode/517440. 
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??4FD>D<4 .D4=F [E4=F]. 3 URL:

8.3.  �D>7D4<<=>5 >55E?5G
Microsoft Windows <?< /=4
Microsoft Office Professiona
Google Chrome <?< /=45>E
�<=>> 
 

8.4.  �D>D5EE<>=4?L=O5 54
�474 44==OE ?> 4=7?<=E>><G
angl.ru/anglijskie-teksty-i-stat
 
8.5. �=D>D<4F<>==O5 E?D4

�=D>D<4F<>==>-E?D46>G=4
translators.php?ysclid=lhre0o8u6f3

 
8.6.  �=F5D=5F-D5EGDEO  
- �4GG=4O M?5>FD>==4O 5<5
- &<DD>6>= >5D47>64F5?L=O
- �5D47>64F5?L=4O ??4FD>D
- -?5>FD>==4O 5<5?<>F5>4 
- -?5>FD>==4O 5<5?<>F5G=4
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5 ?D4>F<G5E><E 74=OF<= 74>?NG45FEO 6 6OD45>F
4=<O 4=7?>O7OG=OE F5>EF>6, ?D<<5=5=<O 
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>F<G5E><E 74=OF<OE ?D54?>?4745F >FD45>F>G < 

<=D>D<4F<5=, 6545=<O 4<E>GEE<=, E>55E54>
4>F<G5E>><G 74=OF<N <>6=> 6O45?<FL 2 MF4?4:  

.  
5=F ??4=<DG5F E6>N E4<>EF>OF5?L=GN D45>FG, >

E4<>EF>OF5?L=>= D45>FO;  
4==>= ?<F5D4FGDO;  
4 D45>FO, 6 >>F>D>< >?D545?ONFEO >E=>6=O

<EF<??<=<DG5F < ?>6OL45F >D74=<7>64==>EFL 6
F =5?>ED54EF65==GN ?>47>F>6>G EFG45=F4 > 74=O
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?D4>F<G5E><5 7444=<O 6 6<45 
O =4 74>D5??5=<5 7D4<<4F<><. 
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5E54>64=<= < F.?.  

F4?4:   

>FG, >>F>D4O 6>?NG45F:  
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�4G<=4FL =44> E <7GG5=<O =>6>= ?5>E<><, 4 F4>65 >7=4>><<F5?L=>7> GF5=<O F5>EF4. �5D5G5=L 
F5>D5F<G5E><E 6>?D>E>6 ?> 7D4<<4F<G5E>>= F5<5, =4 >>F>DO5 EFG45=FO 4>?6=O >5D4F<FL >E>5>5 
6=<<4=<5, >?D545?O5FEO ?D5?>4464F5?5<, 654GM<< E>>F65FEF6GNM55 74=OF<5, < 74D4=55 (4> 
?D>6545=<O E>>F65FEF6GNM57> ?D4>F<G5E>>7> 74=OF<O) 4>6>4<FEO 4> E6545=<O >5GG4NM<EEO 6 
GEF=>= <?< ?<EL<5==>= D>D<5. �D4<<4F<G5E><5 6>?D>EO F5<O >5OG=> D4EE<4FD<64NFEO < 
74>D5??ONFEO =4 ?D4>F<G5E>>< 74=OF<< ?D< 6O?>?=5=<< >>=>D5F=OE G?D46=5=<=.   

�444=<O, ?D54EF46?5==O5 ?> >464>= F5<5, <<5NF ?D4>F<>>->D<5=F<D>64==GN 
=4?D46?5==>EFL < ?D<764=O <4>E<<4?L=> ?D<5?<7<FL EFG45=F>6 > D54?L=O< GE?>6<O< ?D<<5=5=<O 
<=>EFD4==>7> O7O>4. �>E>>?L>G >E=>6=4O F5?L 7444=<= 74>?NG45FEO 6 6OD45>F>5 G EFG45=F>6 
E?>E>5=>EF< ?>=<<4FL ?<EL<5==GN < GEF=GN <=>EFD4==GN D5GL < =46O>>6 55 ?D<<5=5=<O, ?D< 
D5L5=<< 7444G< >5GG4NM5<GEO F5?5E>>5D47=> ?D<45D6<64FLEO E?54GNM5= EE5<O 45=EF6<=.  

� ?5D6GN >G5D54L, EFG45=FG E?54G5F FM4F5?L=> <7GG<FL 7444=<O < 6O45?<FL ED54< =<E 
?5>E<G5E>< FDG4=O5 <5EF4, 74F5< >?D545?<FL >4><5 7D4<<4F<G5E><5 >>=EFDG>F<< ?>4?564F 
?D<<5=5=<N 6 44==>= E<FG4F<<, ?>E?5 G57> 44FL D4765D=GFO5 < 7D4<<4F<G5E>< ?D46<?L=O5 
>F65FO. �O?>?=5=<5 7444=<= <>65F 5OFL ?D54EF46?5=> 6 ?<EL<5==>= <?< GEF=>= D>D<5. � E?GG45 
64D<4F<6=>EF< 6O?>?=5=<O 7444=<O E?54G5F >5>E=>64FL 6E5 6>7<>6=O5 64D<4=FO.     

� E6O7< E MF<< D45>F4 E D5>><5=4>64==>= ?<F5D4FGD>= >5O74F5?L=4. �E>5>5 6=<<4=<5 ?D< 
MF>< =5>5E>4<<> >5D4F<FL =4 E>45D64=<5 >E=>6=OE ?5>E<>>-F5<4F<G5E><E F5<, >5NOE=5=<5 
7D4<<4F<G5E><E =>D< < ?D46<? <=>EFD4==>7> O7O>4, GOE=5=<5 ?D4>F<G5E>>7> ?D<<5=5=<O 
D4EE<4FD<645<OE 7D4<<4F<G5E><E 6>?D>E>6. � ?D>F5EE5 MF>= D45>FO EFG45=F 4>?65= EFD5<<FLEO 
?>=OFL < 74?><=<FL >E=>6=O5 ?>?>65=<O D4EE<4FD<645<>7> 7D4<<4F<G5E>>7> < ?5>E<G5E>>7> 
<4F5D<4?4, ?D<<5DO, ?>OE=ONM<5 57>, D47>5D4FLEO 6 7444=<OE.  

�4>4=G<64FL ?>47>F>6>G E?54G5F E>EF46?5=<5< ??4=4 (?5D5G=O >E=>6=OE ?G=>F>6) ?> 
<7GG45<><G <4F5D<4?G (6>?D>EG). &4>>= ??4= ?>76>?O5F E>EF46<FL >>=F5=FD<D>64==>5, E64F>5 
?D54EF46?5=<5 ?> <7GG45<O< 6>?D>E4< < EFDG>FGD<D>64FL <7GG5==O= <4F5D<4?. 

� EFDG>FGD5 ?D4>F<G5E>>7> 74=OF<O FD44<F<>==> 6O45?ONF E?54GNM<5 MF4?O: 1) 
>D74=<74F<>==O= MF4?, >>=FD>?L <EE>4=>7> GD>6=O 7=4=<= (>5EG645=<5 6>?D>E>6, 6>7=<>L<E G 
EFG45=F>6 ?D< ?>47>F>6>5 > 74=OF<N;  2) <EE>4=O= >>=FD>?L (F5EFO, >?D>E, ?D>65D>4 ?<EL<5==OE 
4><4L=<E 7444=<= < F.4.), >>DD5>F<O 7=4=<= EFG45=F>6; 3) >5GG4NM<= MF4? (?D54NO6?5=<5 
4?7>D<F<4 D5L5=<O 7444=<=, <=EFDG>F<= ?> 6O?>?=5=<N 7444=<=, 6O?>?=5=<O <5F>4<> < 4D.); 
4) E4<>EF>OF5?L=4O D45>F4 EFG45=F>6 =4 74=OF<<; 5) >>=FD>?L >>=5G=>7> GD>6=O GE6>5=<O 7=4=<=; 
6) 74>?NG<F5?L=O= MF4?.   

�4 ?D4>F<G5E><E 74=OF<OE <>7GF ?D<<5=OFLEO E?54GNM<5 D>D<O D45>FO:  
" DD>=F4?L=4O 3 6E5 EFG45=FO 6O?>?=ONF >4=G < FG 65 D45>FG;  
" 7DG??>64O 3 >4=4 < F4 65 D45>F4 6O?>?=O5FEO 7DG??4<< <7 235 G5?>65>;  
" <=4<6<4G4?L=4O 3 >464O= EFG45=F 6O?>?=O5F <=4<6<4G4?L=>5 7444=<5.   
$>D<O ?D4>F<G5E>>7> 74=OF<O: 1) FD44<F<>==4O (GF5=<5 < ?5D56>4 F5>EF>6, >5EG645=<5 

E?>D=OE 6>?D>E>6 ?5D56>44, ?D>6545=<5 GEF=>7> >?D>E4 EFG45=F>6, <>=>?>7<G5E><5 6OE>47O64=<O 
EFG45=F>6; 2) <=F5D4>F<6=4O (E>EF46?5=<5 4<4?>7>6, 4<E>GEE<<, D>?56O5 <7DO).   

�=F5D4>F<6=O5 D>D<O ?D4>F<G5E>>7> 74=OF<O E?G6<F 4?O >>??5>F<6=>= >FD45>F>< 
?5>E<G5E>>7> < 7D4<<4F<G5E>>7> <4F5D<4?4 F5<. % MF>= F5?LN ?D5?>4464F5?5< EFG45=FO 
D475<64NFEO =4 D45>G<5 7DG??O 6 E>EF465 =5 5>?55 3 G5?>65> < << ?D54?4745FEO E>EF46<FL D4EE>47, 
>76GG<FL D<?L<, ?5D565EF< 6<7G4?L=GN =>65??G <?< ?D>65EF< D>?56GN <7DG, <<<F<DGNMGN 
GEF=GN >><<G=<>4F<N =4 <=>EFD4==>< O7O>5. �> >>>=G4=<< D45>FO 6 7DG??5 EFG45=FO 
?D575=FGNF ?>?GG5==O5 D57G?LF4FO. � D57G?LF4F5 GG4EF<O 6 D45>F5 6 7DG??4E EFG45=F4<< 
>FD454FO64NFEO =46O>< >><<G=<>4F<< 6 GEF=>= D>D<5 =4 <=>EFD4==>< O7O>5, >5<5=4 
<=D>D<4F<5= =4 <=>EFD4==>< O7O>5, 4 F4>65 ?D>D5EE<>=4?L=> 7=4G<<O5 =46O>< 674<<>45=EF6<O 
E 4DG7<<< ?<F4<< 6 D>D<5 E>FDG4=<G5EF64, 4>F<6=>7> E?GL4=<O.  

� F5G5=<5 74=OF<O EFG45=FG =5>5E>4<<> 6O?>?=<FL 7444=<O, 6O44==O5 ?D5?>4464F5?5<, 
6O?>?=5=<5 >>F>DOE 74G<FO645FEO, >4> F5>GM4O D45>F4 EFG45=F4.  
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�4<= <7 646=OE 6<4>6 D45>FO =4 ?D4>F<G5E><E 74=OF<OE 3 ?5D56>4 F5>EF4. %GM5EF6GNF 
D47=O5 6<4O ?5D56>4>6 (GEF=O5, ?<EL<5==O5, F5E=<G5E><5, ?<F5D4FGD=O5), => >5M<5 ?D<=F<?O 
?5D56>44 6E5744 >4=< < F5 65.  

�D< ?5D56>45 F5>EF4 ?5D54 EFG45=F4<< 6EF45F =5E>>?L>> ?D>5?5<: =57=4=<5 7=4G5=<O E?>6 < 
?D46<? 7D4<<4F<><, =55>?LL>= 74?4E E<=>=<<>6, EFD4E ?5D54 5>?LL<< >5N5<>< F5>EF4. �D>F5EE 
?5D56>44 45?<FEO =4 GE?>6=O5 MF4?O.  

1. �?O =4G4?4 =G6=> ?5D565EF< =4764=<5, ?D>G<F4FL <EE>4=O= F5>EF >F =4G4?4 4> >>=F4 < 
?>?OF4FLEO ?D< MF>< G?>6<FL, > G5< <45F D5GL.   

2. �4F5< =4G<=45FEO =5?>ED54EF65==> E4< ?5D56>4. �E5 =57=4>><O5 E?>64 6 >5O74F5?L=>< 
?>DO4>5 =G6=> 6O?<EO64FL 6 F5FD44L <?< =4 M?5>FD>==O= =>E<F5?L. -F> ?>76>?O5F 74D<>E<D>64FL 
6=<<4=<5 =4 ?5>E<G5E><E 54<=<F4E, ?GGL5 74?><=<FL <E.  

�M5 >4=4 E?>6=>EFL 6>7=<>45F E 6O5>D>< 7=4G5=<O. �E=>6=4O, G4EF> G?>FD55?O5<4O ?5>E<>4, 
>4> ?D46<?>, <=>7>7=4G=4. � F4>>< E?GG45 6 E?>64D5 G5D57 74?OFGN <?< ?>4 F<DD4<< 
?5D5G<E?ONFEO >E=>6=O5 7=4G5=<O. �<>>744 =5 =G6=> >EF4=46?<64FLEO =4 ?5D6<G=>< 7=4G5=<<. 
�5>5E>4<<> GG<FO64FL >>=F5>EF, 6 >>F>D>< <>7GF 4>FG4?<7<D>64FLEO 6F>D<G=O5 7=4G5=<O.  

�5 =G6=> ?5D56>4<FL F5>EF 4>E?>6=>, 65D=>EFL >5M5<G E<OE?G DD47O 646=55 «5G>64?<7<4». 
$57G?LF4F ?5D56>44 4>?65= 5OFL ?>=OF5= =>E<F5?N DGEE>>7> O7O>4, G<F4FLEO >4> E>D>L<= 
DGEE>>O7OG=O= F5>EF, 4465 5E?< ?D< MF>< ?D<45FEO >FEFG?<FL >F 4>E?>6=>= F>G=>EF<. � F> 65 
6D5<O ?5D56>45 =5 4>?6=> 5OFL 6O4G<4==OE, ?D><76>?L=> 66545==OE DD47<5=F>6.  

�46=> ?>EF>O==> ?>?L7>64FLEO D47=O<< F<?4<< E?>64D5=. � 4>F<65 4>?65= <<5FLEO =5 
F>?L>> F574GDGE, E>45D64M<= 7=4G5=<O >F45?L=OE E?>6, => < F>?>>6O= E?>64DL, E?>64DL-
E?D46>G=<>, E?>64DL E<=>=<<>6 < 4=F>=<<>6, D477>6>D=O= E?>64DL, F5D<<=>?>7<G5E><=, E?>64DL 
E>>D4M5=<=, FDG4=>EF5= < <=>7<5 4DG7<5, F5< 5>?55 GF> 6 =4EF>OM55 6D5<O D45>F4 G?D>M45FEO 
=4?<G<5< M?5>FD>==OE E?>64D5=.  

 
�5F>4<G5E><5 G>474=<O 4?O 6O?>?=5=<O E4<>EF>OF5?L=>= D45>FO 

%4<>EF>OF5?L=4O D45>F4 EFG45=F>6 74>?NG45FEO:   
1) 6 E4<>EF>OF5?L=>< <7GG5=<< ?5>E<>>-7D4<<4F<G5E>>= F5<O (GF5=<5, ?5D56>4, ?>47>F>6>4 

> GEF=><G >?D>EG);  2) 6 E<EF5<4F<74F<< < 74>D5??5=<< ?>?GG5==OE 7=4=<= ?>ED54EF6>< ?5D5E>474 
F5>EF>6 < 6 ?>47>F>6>5 > 4<E>GEE<< ?> F5<5; 3) 6 G7?G5?5==>< <7GG5=<< 7D4<<4F<G5E>>7> 
<4F5D<4?4 E <E?>?L7>64=<5< D5>><5=4>64==>= ?<F5D4FGDO. 

%4<>EF>OF5?L=4O 6=54G4<F>D=4O D45>FO EFG45=F>6 3 MF> ?D>4>?65=<5 <7GG5=<O 
7D4<<4F<G5E>>7> < ?5>E<G5E>>7> <4F5D<4?4 4<EF<??<=O 6 F5?OE D476<F<< =46O>>6 GF5=<O, 
?5D56>44, 4 F4>65 GEF=>= < ?<EL<5==>= >><<G=<>4F<< =4 <=>EFD4==>< O7O>5. �?46=4O 7444G4 3 
?D>G<F4FL < ?5D565EF< 4>?>?=<F5?L=O5 F5>EFO, E>45D64=<5 >>F>DOE E6O74=> E ?D>=45==>= =4 
?D54O4GM5< ?D4>F<G5E>>< 74=OF<< F5<>=, 4 F4>65 4>?>?=<FL 7=4=<O 6 >5?4EF< 7D4<<4F<>< E 
?><>MLN <7GG5=<O GG55=<>>6, ?D<6545==OE 6 E?<E>4E >E=>6=>= < 4>?>?=<F5?L=>= ?<F5D4FGDO. 

 
�5F>4<G5E><5 G>474=<O ?> ?>47>F>6>5 > GEF=><G >?D>EG 

'EF=O= >?D>E ?D>6>4<FEO 6 <=4<6<4G4?L=>= D>D<5 =4 ?D4>F<G5E><E 74=OF<OE, O6?O5FEO 
D>D<>= F5>GM57> >>=FD>?O GD>6=O >E6>5=<O GG55=>= F5<O. �>47>F>6>4 > >?D>EG ?D>6>4<FEO 6 
E>45 E4<>EF>OF5?L=>= D45>FO EFG45=F>6 < 6>?NG45F 6 E55O ?>6F>D5=<5 ?D>=45==>7> <4F5D<4?4 ?> 
6>?D>E4< ?D54EF>OM57> >?D>E4. �D><5 >E=>6=>7> <4F5D<4?4, EFG45=F 4>?65= <7GG<FL 
4>?>?=<F5?L=GN D5>><5=4>64==GN ?<F5D4FGDG < <=D>D<4F<N ?> F5<5, 6 F>< G<E?5 E 
<E?>?L7>64=<5< �=F5D=5F-D5EGDE>6. � ED54=5<, ?>47>F>6>4 > GEF=><G >?D>EG ?> >4=><G 
?D4>F<G5E>><G 74=OF<N 74=<<45F >F 2 4> 3 G4E>6 6 746<E<<>EF< >F E?>6=>EF< F5<O < 
>E>55==>EF5= >D74=<74F<< EFG45=F>< E6>5= E4<>EF>OF5?L=>= D45>FO. �?D>E ?D54?>?4745F GEF=O= 
>F65F EFG45=F4 =4 >4<= >E=>6=>= < =5E>>?L>> 4>?>?=<F5?L=OE 6>?D>E>6 ?D5?>4464F5?O. �F65F 
EFG45=F4 4>?65= ?D54EF46?OFL E>5>= D476UD=GF>5, E6O74==>5, ?>7<G5E>< 6OEFD>5==>5 E>>5M5=<5 
=4 4=7?<=E>>< O7O>5. �D< 6OEF46?5=<< >F5=>< ?D5?>4464F5?L GG<FO645F ?D46<?L=>EFL >F65F4 ?> 
E>45D64=<N, 57> ?>E?54>64F5?L=>EFL, G<5=<5 7D4<>F=> EFD><FL D5GL =4 4=7?<=E>>< O7O>5, 6 F>< 
G<E?5 E <E?>?L7>64=<5< ?<=76<EF<G5E>>= F5D<<=>?>7<<. 
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�5F>4<G5E><5 G>474=<O ?> ?>47>F>6>5 > F5EF<D>64=<N 

�O?>?=5=<5 F5EF>6OE 7444=<= ?D54>EF46?O5F EFG45=F4< 6>7<>6=>EFL E4<>EF>OF5?L=> 
>>=FD>?<D>64FL GD>65=L E6><E 7=4=<=, >5=4DG6<64FL ?D>55?O 6 7=4=<OE < ?D<=<<4FL <5DO ?> <E 
?<>6<44F<<. $>D<4 <7?>65=<O F5EF>6OE 7444=<= ?>76>?O5F 74>D5?<FL < 6>EEF4=>6<FL 6 ?4<OF< 
?D>=45==O= <4F5D<4?. �?O D>D<<D>64=<O 7444=<= <E?>?L7>64=4 >4> 74>DOF4O, F4> < >F>DOF4O 
D>D<4. ' EFG45=F4 5EFL 6>7<>6=>EFL 6O5>D4 ?D46<?L=>7> >F65F4 <?< =5E>>?L><E ?D46<?L=OE 
>F65F>6 <7 G<E?4 ?D54?>65==OE 64D<4=F>6. �?O 6O?>?=5=<O F5EF>6OE 7444=<= EFG45=FO 4>?6=O 
<7GG<FL 7D4<<4F<G5E><= <4F5D<4? ?> F5<5, E>>F65FEF6GNM<5 D4745?O GG55=<>>6 GG55=OE 
?>E>5<= 

�E?< >4><5-F> 6>?D>EO 6O=5E5=O ?D5?>4464F5?5< =4 E4<>EF>OF5?L=>5 <7GG5=<5, E?54G5F 
>5D4F<FLEO > GG55=>= ?<F5D4FGD5, D5>><5=4>64==>= ?D5?>4464F5?5< 6 >4G5EF65 <EF>G=<>4 
E6545=<=.  

 
�5F>4<G5E><5  G>474=<O ?> ?>47>F>6>5 > ?D><56GF>G=>= 4FF5EF4F<< 6 D>D<5 74G5F4 
�4G5F 3 D>D<4 ?D><56GF>G=>= 4FF5EF4F<<, 7444G5= >>F>D>7> O6?O5FEO >><??5>E=>5 >F5=>4 

GD>6=5= 4>EF<65=<O ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=5.  
�4G5F ?D>6>4<FEO 74 EG5F G4E>6, >F654U==OE =4 <7GG5=<5 E>>F65FEF6GNM5= 4<EF<??<=O. 
 �D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O: >F5=>G D57G?LF4F>6 

F5>GM57> >>=FD>?O GE?5645<>EF< EFG45=F4 6 F5G5=<5 ?5D<>44 >5GG5=<O ?> 4<EF<??<=5.  
�?O ?>?GG5=<O 74G5F4 =5>5E>4<<> <<5FL >F5=><, ?>?GG5==O5 6 D4<>4E F5>GM57> >>=FD>?O 

GE?5645<>EF<, ?> >464>= F5<5, ?D54GE<>FD5==>= 4<EF<??<=>=.  
� >D<F5D<< <F>7>6>= >F5=>< GD>6=O ?>47>F>6>< >5GG4NM57>EO ?> 4<EF<??<=5 6E>4OF: 
 - GD>65=L GE6>5=<O EFG45=F>< <4F5D<4?4, ?D54GE<>FD5==>7> D45>G5= ?D>7D4<<>=; 
 - GD>65=L ?D4>F<G5E><E G<5=<=, ?D>45<>=EFD<D>64==OE EFG45=F>< ?D< 6O?>?=5=<< 

?D4>F<G5E><E 7444=<=;  
- GD>65=L >E6>5=<O >><?5F5=F<=, ?>76>?ONM<E 6O?>?=OFL ?D4>F<G5E><5 7444=<O;  
- ?>7<>4 <OL?5=<O, >5>E=>64==>EFL, G5F>>EFL, ?>?=>F4 >F65F>6.  
 

�5F>4<G5E><5 G>474=<O ?> ?>47>F>6>5 > ?D><56GF>G=>= 4FF5EF4F<< 6 D>D<5 M>74<5=4 
�D< ?>47>F>6>5 > M>74<5=G =5>5E>4<<> ?>6F>D<FL E ?><>MLN D5>><5=4>64==>= ?<F5D4FGDO 

6E5 D4745?O (F5<4<) 4<EF<??<=O.  
�4 M>74<5=5 EFG45=F 4>?65= ?>4F65D4<FL GE6>5=<5 GG55=>7> <4F5D<4?4, ?D54GE<>FD5==>7> 

D45>G5= ?D>7D4<<>= 4<EF<??<=O, 4 F4>65 ?D>45<>=EFD<D>64FL ?D<>5D5F5==O5 =46O>< 444?F4F<< 
?>?GG5==OE F5>D5F<G5E><E 7=4=<= > E6>5= ?D>D5EE<>=4?L=>= 45OF5?L=>EF<, 6 F>< G<E?5 6 >5?4EF< 
<56>G?LFGD=>= >><<G=<>4F<<. ->74<5= ?D>6>4<FEO 6 D>D<5 GEF=>7> E>55E54>64=<5 ?> F<?>6O< 
6>?D>E4< 4?O M>74<5=4 < 6O?>?=5=<O ?D4>F<G5E><E 7444=<=, >>F>DO5 ?> D>D<5 =5 >F?<G4NFEO >F 
?D4>F<G5E><E 7444=<=, 6O?>?=5==OE EFG45=F4<< 6 F5G5=<5 FD<<5EFD4, => E4D4>F5D<7GNFEO 
?>6OL5==>= E?>6=>EFLN. 

 
9. ��&�$���,��-&�%��'�%��� ���%��'���� ��%&�����/ 

 
�?O D54?<74F<< 4<EF<??<=O FD55G5FEO E?54GNM55 <4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5: 
- 4?O ?D4>F<G5E><E 74=OF<= 3 GG55=4O 4G4<F>D<O, >E=4M5==4O >5>DG4>64=<5< < F5E=<G5E><<< 

ED54EF64<< >5GG5=<O. 
- 4?O ?D><56GF>G=>= 4FF5EF4F<< 3 GG55=4O 4G4<F>D<O, >E=4M5==4O >5>DG4>64=<5< < 

F5E=<G5E><<< ED54EF64<< >5GG5=<O. 
�?O E4<>EF>OF5?L=>= D45>FO: ?><5M5=<5, >E=4M5==>5 >><?LNF5D=>= F5E=<>>= E 

6>7<>6=>EFLN ?>4>?NG5=<O > E5F< «�=F5D=5F» < >55E?5G5=<5< 4>EFG?4 > M?5>FD>==>= 
<=D>D<4F<>==>->5D47>64F5?L=>= ED545 >D74=<74F<<. 
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10. �%������%&� �%�����/ ��%&�����/ ��&��� % ��$���'���/�� 
��������%&/�� ���$��,/ 

 
�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?ONFEO E?5F<4?L=O5 

GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O, E?5F<4?L=O5 F5E=<G5E><5 ED54EF64 
>5GG5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, GE?G7< 4EE<EF5=F4 (FLNF>D4), 
>>47O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?><>ML, 4 F4>65 GE?G7< 
EGD4>?5D56>4G<>>6 < F<D?>EGD4>?5D56>4G<>>6.  

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO <>65F 5OFL 
>D74=<7>64=> E>6<5EF=> E 4DG7<<< >5GG4NM<<<EO, 4 F4>65 6 >F45?L=OE 7DG??4E. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 
>EGM5EF6?O5FEO E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 6>7<>6=>EF5= 
< E>EF>O=<O 74>D>6LO. 

� F5?OE 4>EFG?=>EF< ?>?GG5=<O 6OEL57> >5D47>64=<O ?> >5D47>64F5?L=>= ?D>7D4<<5 ?<F4<< E 
>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D< >E6>5=<< 4<EF<??<=O >55E?5G<645FEO: 

1) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> 7D5=<N: 
3 ?D<EGFEF6<5 FLNF>D4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E GG5F>< 

<=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL < 
>D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 ?<EL<5==O5 7444=<O, 4 F4>65 <=EFDG>F<< > ?>DO4>5 <E 6O?>?=5=<O >D>D<?ONFEO 
G65?<G5==O< LD<DF><, 

3 E?5F<4?L=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O (<<5NM<5 >DG?=O= 
LD<DF <?< 4G4<>D4=?O), 

3 <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 ?N>E, 
3 ?D< =5>5E>4<<>EF< EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D54>EF46?O5FEO G65?<G<64NM55 

GEFD>=EF6>; 
2) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> E?GEG: 
3 ?D<EGFEF6<5 4EE<EF5=F4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E GG5F>< 

<=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL < 
>D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> ?>?L7>64=<O, ?D< 
=5>5E>4<<>EF< >5GG4NM5<GEO ?D54>EF46?O5FEO 76G>>GE<?<64NM4O 4??4D4FGD4 <=4<6<4G4?L=>7> 
?>?L7>64=<O; 

3 >55E?5G<645FEO =44?564M<<< 76G>>6O<< ED54EF64<< 6>E?D><76545=<O <=D>D<4F<<; 
3) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, <<5NM<E =4DGL5=<O >?>D=>-

46<74F5?L=>7> 4??4D4F4: 
3 ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64==O< ?D>7D4<<=O< 

>55E?5G5=<5< <?< =44<>F>6O64NFEO FLNF>DG; 
     3 ?> 65?4=<N EFG45=F4 7444=<O <>7GF 6O?>?=OFLEO 6 GEF=>= D>D<5. 
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